| Studs @ 24"
: » O.C.
+
\1\
\1\
\
3 1/2" X 20 gage B (3) #10 Screws
Backing as req'd for A | 4’ T/
attachment 4]
ATTACHMENT

BACKING DETAIL



Joist Track

p loor jois
wall stud below \

Clip Angle @
each end of 7/

blocking \\
Solid Blocking / —
between joists L
Wall Stud—»
4
Vo
7%
NOTES:
1. Balconies require special detailing
and consideration for protection against
moisture and thermal bridging. fO,;b
2. Where axia load bearing members eﬁs,o
do not align vertically, provide detail. s g
0
/bJ,

BALCONY WITH STEP DOWN

L,

Stud--Align with

—Floor Joist
/ Below

2 Screws
(Farside) @

each stud to
joist below

Continuous Joist
Parallel to step down

in balcony or provide

Joist header




Clip Angle, 1/2"
less than Rafter Sheathing

Depth /

N
u

) B /Rafter
7T (2) Tracks
/ W/1 Stud

Screws As Req'd

Full Height Studs
From Floor to Roof

k|
L4

A

NOTES:
1. Provide Joist & Rafter Bridging

between rafters at wall.

BALOON FRAMED GABLE
ROOF END DETAIL



2"x4" Blocking Between

Outriggers N.
Top Chord 2"x4" Outrigger 24" O.C.
Adjacent TRUSS /7

\

e

1628825 X4" W/
2--#10 T&B into 2x &

2--#10 into Chord
(TYP)

-

FASCIA el

/Exterior STUD

-«——Ext. Finish

SECTION AT BALOON FRAMED RAKE WALL
WITH WOOD OUTRIGGERS



20 gage TRACK

BETWEEN

OUTRIGGERS 20 gage TRACK Outrigger
2-4#10 Screws — (TO MATCH CHORD

TOP CHORD N. DEPTH) @ 24" 0.C.
(TYP)

— o :
: u ’ U
COPEas | T + +
Req'd +
L | T [
1% T
/ :
TOP L ¥#10 Screws @ 12" 0.C.
CHORD / 1 to Top Track
Adjacent
TRUSS Top y = Exterior
Track ™ Stud
2" 2" I' N
An’éle Wist10 Web Infill @ 24" 0.C.
each Leg (TYP)
(TYP) +
+
+
250T20 Diag. Brace

@ each Outrigger ==
(TYP)
End (Or Rake) Wall

Truss
Cont. 16 Gage

Angle
2--14" x 16 gage Header

—WI/3 1/2" x 20 Gage Tracks
T&B

SECTION AT BALOON FRAMED RAKE WALL OVER OPENING




Expansion or

Anchor Bolt as
Req'd Adjacent to

Stud

Where Ledge is provided for the

Support of a Veneer. The ledge /

shall be located at leastone (1) ———

course or 1 1/2" below the slab
elevation

Stud
j‘ Track

Screw @ Each
lange

Slab on Grade

BASE WALL AT SLAB ON GRADE



E N,

Cont. 300720 Trock Notched

Hver
T D>

Chord W/ 2——#10 Screws EBea——<

//////

See Bottom
Chord
Connection

/

////ROOF Sheathing

Center Line Diag,

See Truss Profile| fo Bracing.
Heel Dimension

[T

+

++

il T
§K\\\\gomt80 Go. Bent Pl
ngle W/2——#10 Ea

Truss Moy Be

Continuous
Wall

BLUCKED TRUSS

-/

U

Stud/ Truss Location

Cont, Top Traock

Aoel SECTIHN



By
)

TOP PLATE

/SUPPDM

#10 SCREWS TO HEEL-=
Screws per End Do Notw

connector screws

CONNECTOR  SCREWS

3—-— #10 each leg eacC ONNECTOR PLATE

CONNECTOR PLATE

MATERIAL 6 Ga.

X DIM 37 Min.

“y 7 DIM 37 Min.

© /7 DIM 1 174" Less than BC, Height

Connect tTo TRUSS W/#10--14 TEK Screws or better,

BUTTUM CRORD TO TOFP FLATE CONNECTION DETAIL



Simpson Hl

Anchor
(Tiruss
Cannection»

[::> | #10 Screws to Heel —-Schedule
| Screws per End Do Not include
Connector Zcrews

L
i
<
\
\

PLE PP g

Connector Screws
2-—#10 Each side to Chor
Member

3--%#10 Screws
To Top Track

Provide Stud Under
Fach Truss (TYP)

P——#10 Scrrows te—SEreT

F

EOTTOM CHORPD TO TOP PLATE CONNECTION DETAIL

\ /[lf



Simpson Hl

Anchor
(Tiruss
Cannection»

[::> | #10 Screws to Heel —-Schedule
| Screws per End Do Not include
Connector Zcrews

L
i
<
\
\

PLE PP g

Connector Screws
2-—#10 Each side to Chor
Member

3--%#10 Screws
To Top Track

Provide Stud Under
Fach Truss (TYP)

P——#10 Scrrows te—SEreT

F

EOTTOM CHORPD TO TOP PLATE CONNECTION DETAIL

\ /[lf



Pipe

Fottom Tpr

DETATIL

\§ Simpson FHA Strap or 18 ga. strap w/3
screws min. each end (Typ. both sides)

Bottom Traoack %//

&)

PL. 3530WLS or 6WLS same gauge as

trock w/3 #8 screws min, each side each
flange Clypo

DETAIL

BUTTUM TRACK
sPLICE DeETAIL



2 Screws ——Each
stud to joist—

below (farside)

AtTtach Track to Joist

w/screws ——eao
sicle

Brick
Veneer

/

Va4
7

Joist— align
with stud
below

4
ai_ 7

Stud=—~Align

with floor
Joist below

Traock

Web stiffener as reqg’d. (this sid or
fit between Jjoist flanges—-—not reqg’d
whensolid blocking is usech

Clip angle——May ke omitted when
Jjoist is screwed directly to top
trock

Sheathing (OSB or
plywooco)

N
a
Q:ib 1. Praovide cont. bridging between

each Joist at lower wall,

2. Solid blocking in every other
space may ke used in lieu of
bricaing.

3. Where oxial load kearing
members do not align vertically
provide detall

CANTILEVERED FLOOR JOIST AT BRICK VENEER



STtud——Align
w/Floor Jolst

below

c Screws @ each stud to Joist
below (Farside)

Attach traock to joist

w/screwss @
flange

Joist Trecsk

Jolst—-—Align

w/stud below

Stud
Wall

Cont Trock o
clip angles

CANTILEVERED FLUOUR
BEALCONY FLOOR

Web stiffener as req’d.

(This side or fit ketween
Jjolst flanges——Not req’d

when salld blacking is
usech

Sheathina (OSB or
Plywood)

Multiple Jjoist
members as req'd ar
cdesign cantilievered

members to continue
To bearing wall

NOTES

1. Provide cont. bridging between
each Jolst at lower wall

. Solid blocking in every other
spoce mnay be used in lieu of
briclging.

3. Whereaxial lood bearing
members do not align vertically
provide detall

JUIST AT FLUSH



Joist Trs
Stud-==Align with

loor Jjoist kelow

e Screws (Forside @
each stud to joist below

Floor Joist align Trock
L

with wall stod

below

— Sl
Aﬁfgg’ggrgg/‘\‘\\\ N Sheathing (OSB
™~

or Plywood>

Clip angle
end of bl

Solid blocki
between ol

(pge69> | JOXA} / Continuous Jjoist parallel to

— step down In balcony or
provicde header

§§”§£§7;——f NOTES
%,
/”75\ I. Balconies require special
4@/0 cetailing ond consideration for
4@ protection against moisture ond
thermal bridginag,

CANTILIEVER LENGTH IS /\/@O
LIMITED BY JOIST DEPTH &/0R <<<\
LOAD-BEARING WALL IS %
PRESENR AT CANTILIEVER END

2. Where axial load bearing
members cdo not align verticall,

&L provicle detail

)
<p
v
%

CANTILEVERED FLOOR AT STEF DOWN
BALCONY FLOOR



Wood Plankl /

Wood Joist alig
wall studs below

Solid BLDCRW@ /

between jolsTs,

Clip angle @ . B
each end —fer \\\ Wall Stud

blocking

Joist

DIMENSION CONTROLLED BY DESIGN
CANTILEVER LENGTH IS LIMITED BY JOIS
DEFPTH AND/OR IF LOAD-BEARING WALL IS
PRESENT AT CANTILEVER END

CANTILEVERED FLOOR

Hanger or
clip angles

C Screws

Sheathing

USB or
plywooch

'
*91//
Multiple Joist
—memnbers os
reqg’d
NOTES
I, Bolconies reqguire special
cetailing and consideration for
protection against moisture and
thermal bridging
2. Where axiol load kearing
members do not align vertically,
provide cdeTalil



lywood or OSB  Clip Angle, 1/2" less

thon Rafter De fﬁ
/”
Aﬁ

hr Rafter or

-~ Top Chord
/F i /
- | | il

7y

L

| *t}w\\\g4
N 2> Tracks w/( Stud
Clip Angle
(Screw as red’ \\\\¥i>
by cdesign) Screws as Reqg'd

Full Helght Studs From

///¢LOOP To Roof

NOTES
1. Provide bridaing at ceiling joists and roof rafters

2. Provide continuous bridging between rofters ot wall

ﬂ

CANTILEVERED GABLE END Al
CATHEDRAL



Plywood or OSB

vl

Clip Angle (Screw as

req'd by desig v Rafter or
+ Top
‘ / Chord
| \ ]
T
| (2) Tracks W/(1) Stud
Screws as Req'd X AN
N
PN N\ Ceiling Joists or
Diagonal - Bottom Chord
Brace at N
ridge
1 r—
Screws
as Req'd
T T ] |
L
<« Wall Studs NOTES:
1. Provide bridging at ceiling
joists and roof rafters.
2. Provide continuous bridging
m between rafters at wall

CANTILEVERED ROOF GABLE END



Rafter ——
=
Screws By =
Design \ ~

= el
/// \
Collar Tie

P
/ Continuous
Channel Bridging

as Req'd

COLLAR TIE AT
RAFTER DETAIL



I
2 1/2" TC Connector Same Gage
as Truss Chord W/4--#10 Screws
—to Girder Truss Web & 4--#10
Screws to connecting Truss Heel
(TYP.UNO)
Girder Truss
Web Member \
J A
= | T #
: —__Connecting Truss
= |+
¥
++ 4
H
Ly | T T

Where Girder Truss Depth will not

allow TC Connector Provide Clip
— (Same Ga. as Truss Chord) W/2

--#10 Screws ea. Leg ea. side here.

‘ Edge of Top &
‘ Bottom Chord

SECT. AT TRUSS

COMMON TRUSS CONNECTION TO GIRDER TRUSS



Cope as Req'd

FOR TRUSS MEMBER CROSS

Vertical
Strut
Member
+ +
+ +
\ Bottom Chord
Web Member
NOTE:
SECTION

¥ s
N

+ n

Bottom Chord

\ #10 Screws

COMPOSITE TRUSS DETAIL
(SCISSORS/COMMON)



Clip Angle--May be
omitted when joist Flg. is
screwed directly to Beam
w/#5 point self-drilling
fasteners.

Steel Beam or Build-up

NOTE: Joist may be screwed
directly to beam using min. 2-#4 or
#5 point self-drilling screws in lieu
of a clip angle.

(This side or fit

cold-formed member

Power Driven
. Fastener or #5 point
self-drilling screw

NOTES:

1. Continuous bridging required between
each joist above beam--use solid blocking in
every other space may be used in lieu of
bridging.

2. When wall above, studs must align with
joists.

3. Web stiffeners are not required when
contonuous solid blocking is used.

CONTINUOUS FLOOR JOIST OVER
STEEL OR BUILD-UP BEAM

Web stiffener as req'd

between joist flange)



NOTE:

Joist may be screwed directly to
top track from either above or
below thru flange with min. 2-#10
SCrews.

Web stiffener as req'd
(this side or fit between
joist flanges)

Angle clip--May be
omitted when joist
FLG. is screwed
directly to top track

Joist--Align joist
with studs below

Fasteners as §
Track Reqd

NOTES:

Wall Stud

1. Solid blocking may be required
between each joist.

2. Web stiffners are not required
when continuous sold blocking is
used.

CONTINUOUS FLOOR JOIST
OVER LOAD BEARING STUD
WALL



X- Bridging

Screws as Req'd

— Screws as req'd STUDS

L

X--Bridging

JOISTS OR RAFTERS

CROSS BRIDGING



Cont. Top

Track For Header
conn. See Det.

Header-- See

plan for size \

Diagonal Shear Wall Strap
ee schedule on plan for

size.

Provide total no. of
scheduled diag. strap I

screws into head

Double
Stud .

DIAGONAL STRAP ATTACHMENT
TO HEADER



Clips Angle (2) @
Each End (4) Total Roof Rafters or

/. Roof Trusses

\\« Joist & Track

Cap

Rafter
W/Track

Joist & Track /
Domer Ridge

Member

Clips as Req'd.
(1) @ each side

DORMER RIDGE AT MAIN
ROOF DETAIL



NOTE: DOOR JAMB STUD'S MAY BE TURNED FLANGE TO FLANGE
THUS ELIMANATING TRACK SCREWED TO FACE OF JAMB

Door Jamb
. Section of stud as

N req'd to stiffen
Screws as req'd
@ each jamb ‘

stud \ / /
X

Web Stiffener as req'd o Track
gscrgw as req'd by — *‘/ B | Solid blocking between
esign) (3 R joists at jamb
. //// \ - _ ‘-.\\\
Joist Track {<4 \ R
W v \ __Plywood or OSB
‘ /}/ ‘ }/
Exterior g w
Sheathing 1
‘ a

DOOR JAMB BASE
AT FRAMING



NOTE: DOOR JAMB STUDS MAY BE TURNED
FLANGE TO FLANGE THUS ELIMANATING
TRACK SCREWED TO FACE OF JAMB

Door

Jambx

Expansion Bolts or

Anchor bolts as
req'd @ each jamb

stud

Where ledge is provided for the .
support of a veneer. The ledge shall / |
be located at least one course or 1

<
1/2" below the slab.

a

|2 R
a
B}
a9,
¥}
a
a

Section of stud as
req'd to stiffen track

Track

SLAB ON GRADE

DOOR JAMB BASE AT
SLAB ON GRADE



Opening less than 4'-0"
Load Bearing Wall

Opening head
detail--single track

Header Top Track
with header

X /
Double % /
Jamb - \ ?ad
Stud \-I; ack
/N
/A Bottom Track
/ \
/ Y 1L
/ I
\\ )
o Jamb at floor
joist

DOOR OPENING LESS THAN
4 FEET WIDE---LOAD BEARING



Opening greater than 4'-0"

Load Bearing Wall

Jamb
at top To
p Track
of wall \ _ ’/
Opening v T_H v Double < Stud
Sill-Single ~—Head Track ~ - —Jamb
C N ;
track \\ // Stud
AN /
NS
>< .
Opening
~“Typical
/ AN ——Bottom Track
/ S

DOOR OPENING GREATER THAN
4 FEET WIDE--NON-LOAD BEARING

Jamb at floor
joist



Opening head

Opening greater than 4'-0"

Loar Bearing Wall

Detail--load H
bearing jamb & Header Top Track
head \ L
\ e - 2
;Track
=—Stud
N 7 Double
ST \\ // Jamb Stud
\\ ~Head
N / Track
N Ve
\></
OPENING
TYP Bottom Track
// \\
/ AN L
7 N ~ ’
7 >
/ // N \\
e ! N \

DOOR OPENING GREATER THAN

4 FEET WIDE--LOAD BEARING

Jamb at floor
joist



Jamb at top
of wall

Opening less than 4

II_OII

Load Bearing Wall

Op

A

ening Sill ~ Top Track

ingle track /

/

/

' 7.’ /
-~ X /
\ /
\ /
Double \ /
_. \ /
Jamb Stud \\ )/
\/
X
/N
/N
/ \
/ \
/ N |~ Bottom Track
/ Nl
/ SO
/ o\ \
V ! \ ‘

]

\ Jamb at floor

- joist

DOOR OPENING LESS THAN
4 FEET WIDE--NON-LOAD BEARING



Clips Angled
as Req'd

Roof
—Rafter or
Truss

Domer Rafter \ X |

Supported member may be connected by cutting flanges-- bending
web to desired angle & flastening directly with screws as desired.

DOMER RAFTER AT
ROOF RAFTER DETAIL



Simpson Coil Strap C5150
W/#10 Screws (Cont. at
BLK'G & shear wall)

\ oist Beyyi‘l OW CS16 Blocking

********* A
| =
+= L
| = m ol
| =Tk S
| HE A+
|
::::*f:::f‘ ******************* L ************* "/j* ‘ **********
12 gage CLIP
W/4-3#10 Screws

each leg (Typ)

Rim Joist

Double Stud /

DRAG STRUT BLOCKING INTO FLOOR DIAPHRAGM

loor Joist

Connect to Rim Joist
Web W/4—310 screws.




18 Gage Bent Plate Cont. W/#10
— @4"0.C. to Top Track & Bottom
L2x2x20 Gage W Chord
Truss Bottom Chord #0@4" 0.C.

each leg 8" Max

Top Track

K" Truss Bottom Chord’ + ) .

Alternate Attacchment

I
\
\
\
| |
#10 screws @ 4" O.C. | }
| O ShearWall——» O
| +——Shear Wall }
\
| \
| 1
|

DETAIL

DETAIL C .

DRAG TRUSS TO SHEAR WALL TOP TRACK



#8 or #10 self drilling

/7 screw (Typ)

\
]
e ( e

TYPICAL EXTERIOR CORNER FRAMING

Holdown
See Plan for type
#8 or #10 self
drilling screw
(Typ)
1 \ | 1 '/
«HO0
B R H
[ [ |
\
2] 1
| L ;I \
Provide DBL. stud / —DBL. Stud
here where holdown

occurs

EXTERIOR CORNER FRAMING WITH HOLDOWN



Rough Opening

See Plan

#8 or #10

Screws

See Plan

See Plan

T

LVaries

EXTERIOR POP-OUT DETAIL

tud (See Plan
eq'd Size)



Plywood

— E.N.
" Sub-Floor BLK'G Same size &
O Ga. as joist (Typ @ 24"

Cont. Track
j\ / 0.C.)
1L/ /

Rim Joist--Use Track - I 1
same size & gage as

joist (Typ) D H-
—

EXTERIOR WALL SECTION WITH
PARALLEL FLOOR JOISTS



Stud: align with
floor joist below

—

2 Screws @ each stud to
joist below (farside)

Attach track to joist
w/screws @ each
flange e
%
Y-
L,
Joist Track \
Joist: Align
with Stud
below Q
4
"8,
fO/;,,eos.
NOTE: “n
/71;.0 "
1. Provide cont. briding between each joist at lower @O‘by

wall.

2. Solid blocking in every other space may be used in
lieu of bridging.

3. Where axial load bearing members do not align
vertically provide detail.

FLOOR CANTILEVER

Clip Angle

T Wall Stud

Continuous
Track or clip
angles
% ebe"gf/;
(N .
Sor, (44'/7)

eb stiffener-as req'd (this
ide or fit between joist

)

Multiple joist members as req'd
or design cantilevered

members to continue to
bearing wall



Screws or bolts /

Web Stiffener
as Req'd.
RS
1+
F I
rl+
Rim Trackjk

Top TrackJ

JoistJ
Stud Under Ea.

Joist (TYP)

FLOOR FRAMING AT EXTERIOR WALL

ﬁSill Track

Sheathing
OSB/or
Plywood)




Clip Angle,

1/2" less than joist depth:
Attach to concrete w/expansion
or anchor bolts.

- — Joist

Metal Shims
as Req'd

FLOOR JOIST @ FOUNDATION WALL POCKET



y. Stud Wall

Sill Track Anch.
#12x11/2"Screws @ - / ,——Cont. Track
12" O.C. Stagg. i
: / / ~ (2) 16 ga Conbt. Track
% 0 i / /,,/ (Back to Back)
L\i /A
RN -7/ e
/ \ s e | ! %
EPN 2ANCN
I \ g ¢ .. \
) )3 e T
Ele?;c:r;JdS ! jﬁ L4 O B T A 16ga Bent Plate
N 3 X 3" long W/6-#10
: / ! to track (TYP. @ ea.
\ | anch. BIt.)
N T RN
CMU -~ g\ ol /
Stem B SR - Y 70 T 5/8" X 10" A.B. @ 4' O.C.
Wall | . i, /. A & within 12" of ends &
(S TP ) corners (TYP. except as
[:‘f[ =T=T=T] “j otherwise shown or noted)
SIS

FLOOR JOIST CONNECTION TO INTERIOR STEM WALL



Clip angle, 1/2" less than joist
depth: attach clip to concrete
w/expansion or anchor bolts.

(Screws as Req.)

0 o / Joist

FLOOR JOIST FLUSH WITH
TOP OF FOUNDATION



NOTE: Provide solid blocking
& bridging as Req'd.

FLOOR JOIST FLUSH WITH
TOP OF FOUNDATION



Power driven fasteners or
self-drilling #5 screws as req'd.

Joist —\

H

I

Cont. track w/2-#10 to closure
track @ each joist

Steel Beam ————
Cont closure track same
depth as beam (TYP.
each side)

FLOOR JOIST FRAMED FLUSH
TO STEEL OR BUILD-UP BEAM



Power driven

1-#10 T&B ea.
joist (TYP) fasteners or
self-drilling #5 screws
as req'd.
— . — NS T =l e = J
i =i
JOIST 1T JOIST
o o Y —— _ ]
Cont. track w/2-#10
Steel Beam to closure track @

ea. joist
\ Cont. closure track
same depth as beam

(TYP. ea. side)

FLOOR JOIST FRAMED FLUSH
TO STEEL OR BUILD-UP BEAM



Stud S

Track
2 Screws @ /

each stud

Joist / . /
Blocking at same

spacing as stud
(TYP. first Bay)

Sheathing
(OSB or

7 Plywood)

Screw joist to
track as req'd

Wall stud / Joist

FOOR JOIST PARALLEL TO EXTERIOR WALL
BEARING ON FOUNDATION




Stud |

Track
2Screws @ P )ﬁ
/

each stud
/a —
Screw joist to track as

\ Sheathing
(OSB or
plywood)
req'd (From under

track) , See note /
> below

NOTE:

A\

/ ’ Rim joist may be doubled as shown and may be
utilized to elimanate the need for additional door or
window headers. This detail may also be used where
fire rated wall construction is req'd.

Wall Stud

FLOOR JOIST PARALLEL TO EXTERIOR WALL
BEARING ON FOUNDATION (ALTERNATE)



Solid Block

Top Track

Fasteners as Req'd
each joist

Stud centered on
joist (TYP)

FLOOR JOIST SPLICE OVER
INTERIOR LOAD BEARING
STUD WALK

V4

Sill Track

Sheathing
(OSB or
Plywood)

\/



Sill Track

L

Sheathing (OSB or

Plywood)
Solid
Blocking
>

Steel Beam or
Build-up
cold-formed Joist
member Power driven fasteners #

or selfdrilling #5 screws

as Req'd.

FLOOR JOIST SPLICE OVER
STEEL OR BUILD-UP BEAM



4
A 7 A
yal N A
2 A .
o Joist Track
pa) ! A >
ﬂﬁ 4 > //
T
AA A
< 4
A 7 <
A
A
4 N A
Clip Angle, 1/2" Less than joist depth:
. B Attach clip and track to concrete
A < w/expansion or anchor bolts.

FLOOR JOIST SUPPORT AT CONTINUOUS WALL



Stud
xk

Sill Track

Screws or
bolts as req'd.

R

Web
stiffners as
req'd.

Sheathing (OSB
. or Plywood)

Rim Track — )t

V.
gﬁ;“

Top Track

Stud Under each /

joist (TYP)

FLOOR JOIST TO EXTERNAL
WALL-LOAD BEARING



Stud Wall (May not o
occur here--See o ~ Plywood
Plan) BN Sub-floor  Floor Joist--See
| O | / B.N. Plan for size.
Cont. Track | / . | \
,,,,,,,,,,,7 ,,,,,,,,,, T X
' + <-—— Track
Beam E
(See Sched) , +
,,,,,,,,,,,,,,,,,,,,,,,,,, l
Cont. Track same Ga. as - #10 T&B
joist W/ #10 screws @ 12" @ 350WCS20 (Typ)
O.C. to BM. staggared W/ 3-#10 to joist & 3- #10 to BM.
(Typ)

FLOOR JOIST TO FLUSH FRAMED
BEAM CONNECTION



Stud- Align

with Floor joist —
Below \

2 Screws @ each <
stud to joist below Track
(Farside) ’/
Attach track to g
joistwiscrews @ 1 / —
each flange - -
e e
- =< ~

Joist Track

I < ———
Clip angle @ 48" \ < Sheathing or

0.c.--screw to joist as Plywood
req'd.

Exterior Sheathing J

— % Joist
Voo
Expansion L >
Bolt oranchor ————— ' Uniform Bearing
bolt as req. @ end of

joist
Provide sill
sealer/caulking _—
(beneath track)
FLOOR JOIST TO TRACK

BEARING ON FOUNDATION



OSB or

Plywood
Joist Track
— T T Length on screw depends on
_————— thickness of OSB or plywood. #8
Joist Tk - | JOIST // or #10 screw as req'd by design.
'\\\ . . ¢ y A
- — 4 - ‘
Joist Web S A o9 K==+
Stiffeners - | nl®/s
i S . OSB or Plywood
e JOIST T
Screws lengthg & 120 [N I
body dia. as req'd by - AT |
design
s Power driven
: AN fasteners or #4 or #5
L Rae point self drilling

SCrews

FLOOR JOIST AT SUNKEN FLOOR



Stud, Align with
Floor Joist Below

Track
2 Screws @ each stud to , /
Joist below (farside) , /

Attach Track to Joist W/Screws @ * //

each Flange (Not Req'd. if web
stiffener is used)

Screw @ each
Flange

Web stiffener as
Req'd. (This side or fit
between joist flange)

Sheathing (OSB) or
lywood

~

Clip Angle as Req'd locate
adjacent to Joist

Exterior SheathingJ

Expansion or .
Anchor Bolt BRI

. Uniform Bearing as
| . Req'd @ enf of Joist Joist - >

FLOOR JOISTS BEARING ON FOUNDATION



Studx.

2 Screws @ each stud

7

///,,///// -Blockingat same spacing
Z / as studs (TYP First Bay)
L ‘////é Sheathing (OSB
\ or Plywood)
/
Screw Joist to /
Track as Req'd

NN
: Joist |

-~

Joist

Wall Stud—»

FLOOR JOIST PARALLEL TO EXTERIOR WALL



Screw Joist to
Track as Req'd

(From under
Track)

N

2 Screws
@each —

Stud

-«—Stud

¥Wall Stud

Sheathing (OS

/

NOTE:

Rim joist may be as shown and may be utilized to eliminate

the need for additional door or window headers. This detail
may also be used where fire rated wall construction is

required.

FLOOR JOISTS PARALLEL TO EXTERIOR WALL

(ALTERNATE)



Clip Angle as Req'd
locate adjacent to joist

Exterior

Strudx

2 Screws @ each
Stud to Joist Below

Joist

Sheathing

Expansion or
Anchor bolt

/Track
// each Flange

Screws @

Sheathing (OSB
or Plywood)

FLOOR JOISTS PARALLEL TO FOUNDATION



- Joist Track
®
®
Concrete Fasteners
as Req'd.
FLOOR JOIST SUPPORT AT

CONTINUOUS WALL



Elevation Varies

-

Sheathing

Screws &

as Req'd \

Rafters

Chord

Studs maybe
framed full

height to
underside of

SHTG.

-~——ortop —*

[ 1

||

Ceiling Joists or
tottom chord

L NOTE:
Provide Bridging
as necessary.

Full Height Studs

< From Floor to

GABLE ROOF
END DETAIL

Roof



Elevation Varies

-

Sheathing

Screws &

as Req'd \

Rafters

Chord

Studs maybe
framed full

height to
underside of

SHTG.

-~——ortop —*

[ 1

||

Ceiling Joists or
tottom chord

L NOTE:
Provide Bridging
as necessary.

Full Height Studs

< From Floor to

GABLE ROOF
END DETAIL

Roof



Clip Angle, 1/2"
less than Rafter

Sheathing

Depth
Elevation Varies
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, Si w
+
7T (2)Tracks
W/1 Stud

Screws As Req'd- / \ Ceiling Joists or

V Bottom Chord
Diagonal Brace at Ridge to B ]
Transfer Loads into ceiling 1

diaphram

Screws as Req'd/

GABLE ROOF END DETAIL

Wall Studs




2.5", 3.5", 45" &5.5"

1.5" & 3"

20,18 & 16 Gage TC
Series Chord Material

TOP & BOTTOM CHORD

1.5"

20 & 18 Gage TW
Series Web Member

TRUSS WEB

GUS TRUSS MEMBER SECTION



Continuous TOP Track

/ P SIMPSON H1
BE ’)%g T SEISMIC TIE
7 ”5/ - % { V%
- |- y
7 #10 Flat Head TEK Screw (4)
- " Total To TOP Track & Stud
//
/ e
i \ ol
#10 TEK Screw (2) - 11
Each Side To Truss ~
Heel (TYP)
\Stud

GUSS TRUSS TO TOP TRACK DETAIL



Clip Angle or
section of track

Beam may also be toe to toe
members

Support Beam

P

|

Web

\tiffeners

asreqd Q\ /4/

NG

[

Multiple members for
bearing support

|

‘ . Gusset Plate

@ each side

Support Member

eader Beam

L
t

Cope flange to allow
expansion of web for
correction to support
] member (ea side)

-

F¥Support Member

eader Beam

HEADER TO JAMB STUD DETAILS



Heel cut Stl.

Beam to match
truss top chord Steel Beam or
S|ope Floor jOiSt

E EQ

21'/ Min. 1'-0" Min.
R )

Dim.to match truss
eel (6" Min.) Typ

Insert (2) 6" x 18ga Cee studs
inside beam or (1) 6"x16 ga on
back of joist and screw w/6-#10
centered (TYP)

HEEL CUT FLOOR JOIST



AE DM. DIM.

SIZE rA" "D" FASTENERS
HOLDOWN
LTT19 34" 112" 12" 8--#10
LTT20 1/2" 11/2" 12" 10-#10
LTT20B 34" 112" 12" 10-#10
MTT28B 34" 11/2" 14" 24-#10
HD2A 5/8" 21/16" 12" 2--5/8" Bolts
HD5A 3/4"  21/16" 18" 2--3/4" Bolts
HD8A 7/8" 21/16" 24" 3--7/8" Bolts
HD10A 78" 21/8" 24"* 4--7/8"Bolis Dim. "A"
HD20A 11/4" 11/2" 30"* 4--10"Bolts See Schedule
V%’ N
* NOTE: Bolt embedment based on | | |
min.conc. strength of 2500 P.S.I. T SOIch;’\INn f Double
| ee Plan for | Stud--See
See Schedule for T E'?‘ — size [t /" Plan
size & No. of Ll (Typ) |
fasteners. — ‘ﬂ | fuis
(Typ) N pn fins Bottom
e ‘ [ruim " Track
+i i | T
al |
L L] ‘ . .
Double Nut 7 72 == H— Rim Joist
w/washer (Typ) i i (Track)
& |
@ - |
_ ‘ ‘ Anchor Bolt
g'm- "D" o ¥ Y See Sched. for
ee ‘ ize (T
Schedule Joist ? | ; / size (TyP)
Beyond | I |/
| il
V] |
— |
CMU Stem
Wall —_—

HOLDOWN DETAIL AT STEM
WALL



#8 or #10 Self
%]nllmg Screw
r/ 1
R R

TYPICAL INTERIOR CORNER FRAMING

#8 or #10
Self Drilling

Screws

TYPICAL INTERIOR INTERSECTION

NOTE:
Use #8 or #10 Self
Drilling in all cases

ALTERNATE INTERIOR INTERSECTION FRAMING



Rim Joist
N - See Plan

Provide total No. of
scheduled Diag. Strap

screws into Rim Joist

Diagonal Shear Wall
trap--See Scheduleon — —
plan for size.

INVERTED CHEVRON TYPE STRAP
CONNECTION TO RIM JOIST



25TC20 Connector X 4" Long
W/4-#10 Screws to Heel
Member (TYP. 2 Places)

4410 Screws to Girder
Truss Web Member (TYP)

UNO \\

Girder Truss
Web '« Heel
Member

1| III
1 117l

Hip or Jack
Truss

|
| |
| |
| - | Provide 18 Ga.
n i o1 Bent Pl in Lieu of
BRI 25Tc20 Connector
| + +\ N o -
| | Edge of Top & Bottom \
-  Chod N
N
| | .
| N \
SECT. AT PERP. SECT AT SKEWED N
TRUSS TRUSS NN

JACK TRUSS CONNECTION TO GIRDER
TRUSS



2 Screws

@ each

side of
jamb

Track Web Stiffeners
@ each side of
double joist below
jambs(screws as
req'd by design)

v Plywood or
OSB

NOTE:

Web stiffeners may not be
needed depending upon the
particular design requirements.

JAMB AT BOTTOM OF
WALL



2 Screws @
each Jam Track web stiffeners @
stud each side of double joist
Below Jambs (Screw as
Req'd by design)

Plywood
or OSB

NOTE: Web stiffeners may not be
needed depending upon the particular
design requirements.

JAMB AT FLOOR
JOISTS



Top Track Screws as

or —reqd
Distribution
member LR
A Multiple
| members
= as req'd
Screws as
/ Req'd
| Multiple
members
as req'd
Top Track at jamb
or
distribution _
member

JAMB AT TOP OF
WALL



Solid blocking or X-bridging. Fit
between first & last (2) spaces repeat
as req'd

N

Flat Strap, notched
channel X-bridging or
proprietary bridging,
attach to each joist.
Transfer bridging forces
into lateral stability —

system /
Joist or rafters——

Anchor bridging to

\L solid blocking

JOIST AND RAFTER
BRIDGING



Stud

Floor Joist Wall
See plan for size ; / il
— & spacing | !
Stud - % % (P/p) 3 Track
¥ | / Cont. 16 Ga.
e || | Rim Joist
7777777 7 7// sb (Track)
7 Stiffeners [ \:7
= same | v, 20 Gauge Web
| size as ! t
3--#10 Screws To Rim H— Stud | - S“ﬁ‘;’?ef ct:onnector @
& 6--#10 To Joist (Typ) 7 1 i each jois
I N (N A R
/| /|
/| /|
/| /|
v v Foundation
v Vv Stem Wall
] /|

JOIST CONNECTION
AT STEM WALL



Clip angle. 1/2"
less than joist
depth (screw as

req'd)
Joist &
: . Track

Additional | : Header
Members /
as Req'd.

Joist &

Track

Header

JOIST HEADER TO BUILD-UP
JOIST



2#10
Screws @
16" O.C.

Clip Angle, 1/2" less
than joist depth
(screw as req'd)

Joist
Joist &

4 Track

.~ Header

JOIST HEADER TO FLOOR
JOIST



Provide Full
bearing (full
width of stud
min.)

Screw directly to Joist, align

top track (Min. with wall stud

2-#10 ea. joists) below
NOTES:

1. Continuous bridging req'd
between each joist above
wall. Solid blocking in every
Il other space may be used in
lieu of bridging.

2. When wall above, studs
must align with joists.

3. Where axial load bearing
members do not align
vertically, provide detail.

JOISTS SUPPORTED AT BEARING
STUDS




STUDS

Opening

- entered in
- web

Top edge of peneration shall nor be
located any higher than the top edge

of the punch-out.

NOTES:

1. Flanges shall not be notched or cut.

S

Reinforcement required for
penetrations greater than

2. Capacity verification by design is req'd.
for any openings located at concentrated loads and bearing

ends.

punch-out depth

No reinforcement required for
penerations with a diameter less than or
equal to punch-out depth, except as

noted.

JOIST, STUD OR RAFTER WED PENETRATIONS



3/4"
Top Cord % Top Chord

Member \ “ ! Member
5/8" Min. /

(TYP) e j/ﬂ K

NOTE:
Fot Truss member
xx:;be,- ] cross sections
B
DETAIL AT TOP
CHORD

NOTE: Gusset plate may not be required if calculated number of
screws can be directly applied to all joined webs through chord
member

Web Web
Member Member
Provide gusset Pl to match
heavier member connected
where SPE (Screws per end) is |
flooowed by letter G (TYP) |
&\fi
/ \< N Screws may be
Bottom placed in two rows
Chord #10 as shown (TYP)
Screws
DETAIL AT BOTTOM
CHORD
KING POST

DETAIL



Top Chord Member
Top Chord Member

Gusset Plate ea. side to
match heavier member

onnected-- See Schedule.
For SPE. ( Screws perend )

7 Web
When all scheduled ‘ Member NOTE:
screws can be provided For Truss member cross
in lap---No gusset plate section
is required.
DETAIL AT TOP CHORD

NOTE: Gusset plate may not be required if calcuated number of screws can be
directly applied to all joined webs through chord member.

KING POST W/GUSSET DTL



— | Max l 2'-0" } Max:
Provide 2--2" X 16 gage Strap
Q— Brace to FAU. Frame Approx. HEQ—T
I here (Typ) | |
T
T .
L | N L ‘
FAU /P Truss
| | l ‘ |
]’le 777777777777777777777777777777777 tl:’ffff‘ff—\
|

Provide 2" X 2" X 18 gage 15"
LG. Clip angle W/2 #10 to each

| |
|
| | |
| |
|
| | |
platform member (Min.)-- Typ. ‘
|
| |
|
| | |
| |
|
|

\
\

\

\

| FAU Support
| Point (Frame)
\

\

Where frame cannot be directly
attached.

L4l 1 gL e

e
1 h /
o ?Tc;‘;‘;" each NOTE: (4) 350WCS18 (Platform)
@ approx. 12" O.C.
Support for FAU May be (Center on unit)

over 3 Trusses.
(See Mech. Plans.)

MECHANICAL UNIT SUPPORT
BETWEEN TRUSSES IN ATTIC SPACE.



#8 or #10 Screws @ \ O
16" O.C. to joist or |
blocking

Track

31/2"
Studs @
8" O.C.

Piece of joist as
solid blocking @

each joist spacing T\

Stud J
Wall —

NON-BEARING
SOUND PARTITION
DETAILS

Plywood or
OSB




Top /
Track R
rac N Connect Header to
g2 Jamb Studs as
i R
Header |
Beam as
Req'd by
design T~
< 1 Cut Web and
~ Bendas Req.
Cripple
Stud
Head
Track i
Multiple Members
/ as Req'd at Jamb
» |

Multiple Members
as req'd at Head

OPENING HEAD DETAIL
--LOAD BEARING JAMB AND
HEAD



Top

Track Connect header

to Jamb Studs

ot / as required

Header Beam

as Req'd by AN
design \ : | ‘
| Cut Web
and bend as
necessary
= )
Cripple
Stud
Multiple
?faacdk Members
as req'd at

/ jamb

OPENING HEAD DETAIL--SINGLE
TRACK WITH HEADER



Clip Angle,
1/2" less than
Joist Depth

OPENING IN FLOOR
JOISTS



Bend Portion 1

of web down |

and fastento ———— | Cut track and bend

jamb | to allow extension of
| flanges for
connection

Track

/ Jamb

NOTE: Invert
Details for
head
conditions

OPENING SILL DETAIL--SINGLE
TRACK



Cont. 2" x 20 Ga. Strap--Attach to
each Truss W/2-#10 Screws (TYP)

NOTE:
For Truss member
cross section

Cont. 20ga. Deep
Leg Track Fascia

\Top Track (TYP)

Exterior
«—Studs

(TYP)

See Arch Drawings for finish
fascia condition & position

OVERHANG DETAIL---FLAT
BOTTOM CHORD



Cont. 2" x 20 Ga. Strap--Attach to Top Chord
each Truss W/2-#10 Screws (TYP) /

Vertical Strut Member

NOTE:
For Truss member
cross sections detail

Vaulteds Bottom

\ Chord Member
Top Track (TYP)

Exterior
- —Studs

(TYP)

_—  Bottom Chord to top
plate connection

Cont. 20ga. Deep
eg Track Fascia

See Arch Drawings for finish
fascia condition & position

OVERHANG
DETAIL---SCISSOR TRUSS



1 8“

1 |_6ll

E.N. Plywd.
fo BLK
Plywood
Shtg. S
S }/‘/L S L
Joist 1/

—_—
See Plan -+t

S
‘H
| [\

==

/]
20 ga. Blk'g @ 24"

. o.c. See Pg. 667 T
£ i
= /] /]

L
/] /]
= /]
| /]
L
/] /]
CMU | ¥
StemWall 7l o 1]
c 4 |
=
e [

EIEENEI

=

Stud

Wall
/Cont.
Track

16 ga. Cont. Rim
Joist (track)

5/8" x 10" A.B. @ 4' O.C. & within 12"
of ends & corners (Typ. except as

otherwise shown or noted)

V W f Track

.16 ga. bent plate X
. 3" long W/6-#10 to

Plate -
Washers

PARALLEL FLOOR
JOIST TO STEM WALL

" track (TYP. at ea.
' Anchor BLT)



2 Screws @
each stud to
each joist below
SHT'G edge
screw--to interior
joist

Joists \
\

Clip Angle @
48' o.c.--Screw
to joist as req.

Exterior
Sheathing S

Sill
sealer/caulking
eneath Track)

Expansion Foundation Stem
or Anchor —— Wall
Bolt -

PARALLEL FLOOR
JOISTS @
FOUNDATION



Stud Align with
floor
joist below

Screws or bolts
as req'd

Web
Stiffeners

Rim //<
Track
> ’
Top / > "
Track
2“

NOTE:
In order to facilitate the attachment of
drywall which must extend to the

underside of floor sheathing, blocking
must be provided between each joist.

N/

Screws at
each
flange

|

Sheathing
(OSB or
PLYWOOD)
<
Joist-- Align
w/wall studs
S below (TYP)
Stud under
ea. joist
(TYP)

PARTY WALL AT LOAD BEARING

WALLS



Continuous
Bridging
as Req'd

Joist or bottom
chord connected
to rafter

Clip
Angle

Rafter or
Top

Distribution member
where joist do not
align with studs
below

RAFTER EAVE
DETAIL

Cord

Align joist
& Rafter
over wall

stud below
Wall

/ Track

=

<




Rafter or
Top
Cord

Continuous Angles

Fasten W/Screw gggg:;l;ous
h b o
@ each member 26 Roo™d

(TYP)

Joist or Bottom
Cord
For
e — ~——Connection
TK*""*"""""J" See Rafter
/ Eave Dtl
Soffit Framingas - Wall
Req'd Stud

RAFTER EAVE
DETAIL



Rafter or
Top
Chord

Continuous
Bridging
as Req'd

i \ Joist or
‘Tj Bottom Chord

Continuous Angles For Details
Fasten W/Screw Rafter Eave
@ each member Dtl
(TYP) Wall
Stud
RAFTER EAVE

DETAIL



Continuous
Angle fasten
w/screws at
each
member

fffffff

EAVE RAFTER
DETAIL

Notch
Rafter as
Req'd




Continuous Angle
fasten w/screw at
each member

[

RAFTER EAVE
DETAIL



Screws as
Req'd by
design

Continuous
Channel Bracing
as Req'd

RAFTER TO
DIAGONAL BRACE
DETAIL



8- #10 Screws

to Rafters

(TYP)
20 ga. bent plate .
cont. w/ #10 screws —Roof Sheathing
@ 6" 0.c to track

notch over rafters
(TYP)

350720

350WCS16 Connector W/3 #10
crews to Rafter & 3 #10 to Top

Track (field bend web as req"d)

See Drawing for

Finish Fascia
Condition

Top Track

Cont. 20
ga. Track

O w« Exterior Studs (TYP)

RAFTER WITH REDUCED
SIZE OVERHANG



Joist & Track Clip
as Ridge Angles as

Board Req'd @
each side

\ Align
Rafters

RAFTER BOARD
DETAIL



Cope Flanges of
one Top Chord for
Lap

Screws

by Design \

/

Continuous
\ Channel
~_Bridging as

Req'd

RIDGE
DETAIL




Rafter or
Top Chord

Continuous Angles
Fasten w/screws @
each member (Typ)

Joist or
Bottom Chord

Clip Angle
between Members
Screw as req'd by
design

-—\Wall Stud

Soffit Framing
as req'd.

Sheathing !

-

ROOF EAVE AND SOFFIT



Rafter

Provide continuous Rafter
bridging over wall or solid
blocking @ every other space.

Angle Clip Angle

as (screw as Req'd
Req'd by design)

for eave 7/

BD.

Wall
Stud R

ROOF'&JEAT

CATHEDRAL
CEILING



Rafter or

Continuous Top chord

bridging as

req'd

Align joist & rafter
Joist or over wall stud below
Bottom chord 3
—
connected to N\
rafter /Wall Track
Clip Angle

Distribution Member
Where joist do not

align with studs
below

-«—Wall Stud

ROOF EAVE



Plywood or
—— 0.8.B.

/

Screws . 4 1
as Rafters or
Req'd B i Top

' Chord

Full Height
Studs
From Floor to

) roof

NOTE:
Provide bridging at
ceiling joists and rafters.

-

ROOF GABLE END
AT CATHEDRAL




Plywood

- orO.SB.
" L / 2
T l
Screws g L
as Req'd O Rafters or
|| Top Chord
N
N
1
Ceiling Joists
or Bottom Chord
Screws T
as req'd i
—x
I I 1 |
I I
NOTE:
+r«—Wall Studs Provide bridging at
ceiling and rafters.

ROOF GABLE END



Angle

o

ROOF
SCISSORS
TRUSS
BEARING

-

Align vertical web
over wall stud
below

Continuous
—_ channel
bridging



Screws by

Angle as
req'd for

eave BD.\

|
| : Continuous channel
| ‘ ridging as req'd.
\ | \
—— —
J |
| \
[
For o
Connection
see rafter \jlign vertical web
eave detail ver wall stud
below

NOTE:
Where axial load bearing members
do not align vertically, provide

detail.

ROOF TRUSS BEARING



— TRACK(TYP)

3/ "

EN.__ |

3 #10 Screws
to TOP

TRUSS
TOP

-

/ CHORD
Cont. 20

gage

RIM
1I JOIST

Cont.

2410
SCREWS
each
Side
Chord
Top
Track [
15TW20 @ each
TRUSS BRG.
(TYP)

TOP
TRACK —— —

2 Layers

PCE> 25Tc20 W/4-413
SCREWS Thru GYP. Board into
STUD & 2--#10 each side to
WEB (TYP)

h)

N

ROOF TRUSS CONNECTION AT PART

WALL

3--#10 Screws
Between
Trusses--TYP RIM
JOIST To Top Track

TRUSS
BOTTOM
CHORD

CONT. 2"x2" 20
Gage Angle W/1-#10
Screws each Truss
Each Leg (TYP)



ZX///f4Raﬂer

Align Joist & Rafter
\ / over wall stud below

X (Wall Track

Clip Angle
(Screws as
Req'd) by design

Wall Stud—»

ROOF TRUSS EAVE



Provide gusset PL to

match heavier member
connected .

NOTE:
FOR TRUSS MEMBER
SECTION DETAIL

Web Member Web Member
3/4" (TYP)
J l o
+ +
\ el g X/
>< ><
Provide #10
< Fe o e
Pt > 4t
Py r
#10 Screws

Bottom Chord

DETAIL AT BOTTOM CHORD

SCISSORS TRUSS BOTTOM
CHORD DETAIL



Screws By Design

\gontinuous
ridging as

Req'd

e
s
See Rafter
Eave Dtl \

NOTE:

Align Vertical Web
over Wall Stud below

Where axial load bearing
members do not align
vertically, provide detail

SCISSOR TRUSS END
AT EXTERIOR WALL



Gusset Plate each 24" (TYP
side to match heavier / ( )
member connected.

Web Member
7
ND N #10 Screws (TYP)
Web / N |

Member

A

N
+ o+
it

\Bottom Chord Member

Provide #10
Screws each /
chord member

DETAIL AT BOTTOM CHORD

NOTE: Gusset plate may not be required if calculated number of
screws can be directly applied to all joined webs through chord

member.

SCISSORS TRUSS WITH CLIPPED CEILING DETAIL



\Diag. Strap.

Plywd FId. Cross Brace

Shtig.
\ /Bottom Track
77777 ]
S+
++ | \ \
++ |
+ |
-
Ll |

[

B
+
+
Pl

BLK'G
~ See Plan Extend Gusset Plate as shown & add screws
to BIk'g joist or beam. (Blk'g shown). Screw
PCE. 350WCS20 size & Qty. to match schedule 1/2 (B + C)
STUD W/3-#10To —
Joist BLK.

SECOND FLOOR SHEAR
HOLDOWN TO FLOOR JOIST



Use Plate
Washers Under
Nuts (Typ)

Cut hole in Track & Floor
sheathing ( 1"-0")

Diag. Starp &
Gusset Per
Det.

Bottom

Track
/

Floor

\ Joist

y - — — |  SeePlan

Double
Stud

N Scheduled Anchor Bolt

N (Threaded Rod)

Simpson Type "HD" Holdown
__Above & Below Floor-- See

Plap for size.
cheduled Stud Bolts

(Typ)

SECOND FLOOR SHEAR
WALL HOLDOWN DETAIL



Cut hole in
track & floor

sheathing (2'

Double stud
in-fil w/4--#10
Screws to strap

Double
Stud

Double

/ Stud

|
|
| ya Diag. Strip
I rd & Gusset
¥ X/ Per Det.
- R/ X Bottom
- X,/ X
S 1) Track
X/ X /
X
+ + + 4+ - —

|

|

|

|
L
H
. F
) \ b
)

N

\

|

|

|

\

A g
|
|
|
|
|
‘[/

SECOND FLOOR SHEAR
WALL STRAP TIE HOLDOWN

DETAIL

Floor
— Joist



DBL.
/ Stud P 4
Cut hole in | .
Track & |
Floor - / Diag. Strap
sheathing ++ o & Gusset
(2"-0") Lt < Per Det,
++ XX
4y X Bottom
4t X Track
+4 /
\ B
N
Z B
I\ NN A | S N | I | B
TN AT =
-
N
‘ ‘ ++ ~ 2"
| | R AN Strap w/ (V)
. AR b
| | \X Screws each
ot X D
| /J( X end per
DBL. P il N schedule
Stud —_— ‘ ‘ \
| | | :
Diag. Strap
& Gusset
per Det.

SECOND FLOOR SHEAR WALL STRAP
TIE HOLDOWN DETAIL (ALTERNATE)

Floor
Joist
See Plan

\z Bottom
6G Track



2"x4" Blocking Between

Outriggers
. E.N. 2"x4" Outrigger 24"
/ 0.C.
1 ’
1628825 X4" W/
2--#10 T&B into 2x L
& 2--#10 into Chord
(TYP) FASCIA
Top Chord
Adjacent
TRUSS
| .
\ ¥ WEB InFill @
‘ 24" O.C. (TYP)
250T20 Diag.
Brace @ each
Outrigger
(TYP)
End (Or Rake)
Track ~ Wall TRUSS
#10 Screws @ 12" Exterior
O.C.to TOP STUD
TRACK —
P
Ext.
Finish

SECTION AT RAKE WALL TRUSS WITH WOOD
OUTRIGGERS




20 Gage Track Between
Outriggers W/#10 Screws At

2-4#10 Screws 12" O.C. to Top Chord

To Top Chord
(TYP)

20 Gage Track Outrigger (To
Match Chord Depth) @ 24"
O.C.

E.N.

Cope As P S
Req'd — + T

Top Chord
Adjacent
Truss

CLG.

Line ‘¥ End (Or Rake) Wall
Truss

Top
Track

/ T
#10 Screws @ I
12" O.C. to Top
/

Track —

Eave
Soffit

Cont. 20 Ga. DEEP Leg
Track Fascia

Web Infill @ 24"
\ ~_______ocC.

M ¥ 250720 Diag. Brace @
each Outrigger (TYP)

Exterior
Stud

Exterior

e« Finish

SECTION AT RAKE WALL

TRUSS




Strap

¥
B 1--#8 or #10 Self
Drilling Screw to
each stud
DETAIL
B
Gusset Plate W/#10 Screws to
— stud & #10 screws to track (as
W req'd by design)

Double . Diagonal Strap w/#10 screws to
Stud y V plate (as req'd by design)

+ + /X

+ |+ 1

H AR Track NOTE: GUSSET PLATE
tle | ' OCCURS AT BOTH ENDS OF
il Rl STRAP (UNLESS DETAILED
| N OTHERWISE)
GUSSET
DETAIL ‘A
SHEAR PANEL

BRACING



#10 Self Drilling Screws
To Double Stud

See Simpson catalog for
No. required. P ¥4
4
bl
s
Simpson e
Holdown Z
\‘ N
Holdown =
Anchor Bolt \

Double
/ Stud
P I
| Continuous
bl? Sill Track
o)
41
& | Gusset
¥ i - Plate
& P
& # Shear
4 | Strap
P iF &
S
~ o |7
h ¥is

#10 Self Drilling
Screws

| / (Typ)

LN

SHEAR WALL GUSSET PLATE

& HOLDOWN ASSEMBLY



Lateral Stability
strap as req'd by
design
Multiple
members as
/ req'd at ends
| >
Screw to [
each Stud Gusset Plate as
req'd by design
)( //
/li ) Holdown may be
. A located on opposite
>\ 5 side of DBL. stud.
+ £ j: Nk
Bottom Track as e P
req'd to transfer AN n Holdown &'Anchor
loads + N 4 bolt as req'd
4 +
R O&
LT,
/////”v Lz Sheathing

7

Joist——

N

down
Below

<« Blocking

Top Track as req'd
to transfer loads

Additional stiffener
adjacent bolt to allow
pretensioning of bolt

SHEAR WALL HOLDOWN

AT SECOND FLOOR



Lateral stability
strap as req'd by

design
Multiple member
as req'd at ends \W ) Screw track
to each stud
+
.
+
+
Holdown may be iR
located on opposite AT
side of DBL. stud. +
i Bottom Track as req'd to

transfer loads
Gusset Plate as

Req'd

Screws as
Req'd NOTE:
Strap forces may require
additional stiffening of the
- bottom track.

SHEAR WALL
HOLDOWN
AT BASE




12“ 12“
Diam: Diam: "
HD Anchor Studs @ 24
where o.C.
occurs
I |
PR PR N
»
| | | | | ] ] ] ] ] l ]
L L 1 L 1 L L 1 1
Doubil WCS16 TrackBlock X
Jamb Stud 1'-10" W/anchor bolts. per
(Min.) PLAN —— anchor bolt schedule (2
A shown) see plan
Strap— »
I — —
@ Stud -
I Gusset
7 B s o e e Plate
WCS16 (Same
Double Double Depth as wall
Jamb Stud Holdown stud BLK'G)
(Min.) — where
PLAN B occurs Track ﬁ
/
+ <
(Same as plan ’ . H A
A except as v )
shown) 4o .

SECTION

SHEAR WALL TRACK REINFORCEMENT AND

ANCHORAGE



e
Clip Angle attach to joist or stud &
blocking w/screws (Typ)
\\/
{/
NOTE: <
1. Where blocking material thickness allows, \
notch and bend track 90 deg. for connection. NS
2. Where provisions are provided for transfer -~ Jﬁ
of flange forces to solid blocking. Blocking _
need not be the full depth of the member. Solid
Blocking
Alternate
connection--
see note
STUDS
Solid
Blocking
+
to joist or stud &
blocking
w/screws (Typ)
JOISTS OR
RAFTERS
SOLID

BLOCKING



Strap

Provide scheduled Top

Double _
At interior walls Stub & Bottom Gusset plate in
where floor is one piece
continuous through ) /|
conn.
X ’
Bottom O R 44
Track OSSN+
X h+
S+
Finished Floor
@
+
1+
-+
+ 4
-
} +
‘ Double
~_— Stud
Strap occurs only |
where shear wall is | |
present I

STACKED SECOND FLOOR SHEAR WALL
WITH COMMON GUSSET PLATE



Sill Track Anch. (12" x 1

Stud

— Wall

Cont.

1/2" Screws @ 12" 0.C.) T

Plywood
Shtg. “
|

\
Floor / \

—— Track

16 ga. Cont Rim Joist
(Track)

5/8" X 10" AB. @ 4' 0.C. & within 12"
of ends & corners (Typ. except as
otherwise shown or noted)

Joist / S T ‘ S
Beyond -t - | | N

¢ 4t V] ‘ ‘ N

d % I J v

; g /k ‘ fr- E.N. (Edge Screw

1 /
; % /Plate k Plwood to track)
ETEEE | | A e |
e e e W ; ; 16 ga. BentP:atex3"0ng \\
W/6--#10 to track (T t

CMU Stem 0T o track (Typ.at ea. 1 x

4 | Anc. BLT) \ - - !
Wall S | oI |

% \ : | J

S \ 4 <— Track K

ay ., . \\ / //

.® ‘@’a \ . ,
AN /
=TT S 7
===l S g P

STEM WALL

DETAIL



n Top
5/.8 Chord

I(YII_':;P) . / Member
AN
%>++

YN
.

OTE:
For truss
member cross

\\\//// section

Web
Member

DETAIL AT TOP
CHORD

NOTE: Gusset plate may not be req'd if calculated
number of screws can be directly applied to all joined
webs through chord members

STEP DOWN TOP CHORD
DETAIL



15TW20 Web Stiffener
W/2-#10 Screw each EN. Truss Top
(TYP) Chord
Truss
Top
Chord N ‘ |
2-#10 / 2 y
Screws each ‘ 1/2" + 1 |+ T .
. - K
side . — ‘+‘+‘><XK
I 163 \ ~
| [T
| ‘ \ 25TC20 Solid
/ + \ Blocking
Top W/4--#10
Track - each BLK To
Tracl
o Cont. Top
Track
Stud___ 4-—-#10 Screws
each Truss Chord
to Top Track (TYP.
Conn.)
N [y
gy =nal >
Iy 1
Truss Bottom
Chord
Cont. 2" x 2" 20 gage Angle
W/2-4#10 screws each Truss

each Leg (TYP)

TOP CHORD BEARING FLOOR TRUSS
DETAIL




3-#10 Screws Between
Trusses--TYP. Rim Joist to

Top Track
2-15TW20 Inserts E.N. Truss
W/1-#10 Screw each Top
(TYP) Truss Chord

Top Nl
Chord
2-#10 /7 2 P v
Screws each 1/2" -+ %
side ‘ | P % \X
. B |, | N ~
| !
K /4 \ 25TC20
Top Rim
Track Joig
Cont. Top
4--#10 Screws Track
Stud each Truss Chord
to Top Track (TYP.
Conn.)
L+
2t Tl *

ot

Truss Bottom
Chord

Cont. 2" x 2" 20 gage Angle
12-#10 screws each Truss
each Leg (TYP)

TOP CHORD BEARING FLOOR TRUSS
DETAIL

(ALTERNATE)




Sheathing

| Joists
Screws as ~ -
Req'd

Section of stud for
cross member as
- N req'd to brace wall

Cope screw as req'd
Flange of
Cross
stud
Non-load
T Bearing
Wall

TOP OF NON-LOAD
BEARING WALL TO
PARALLEL FLOOR JOIST



Double joist section as req'd by

design when studs do not align with

joists below. At exterior walls,

continuous joist track may be

substituted for one joist section —

Distribution member as req'd. by
design where joists and/or studs
do not align with studs below may
eliminate the need for the
distribution member

@ £
&
/ :
+
" ¥
Screws as

_ Reqd
Alternate
Detail for
Filler Stud

TOP TRACK LOAD
DISTRIBUTION
DETAILS

Stud
Above

<]
/ Joist

¥ Studs

/ Below




FHtt++ |
e e

PLAN
#10 screws--Number req'd Top

by design each side splice

(Typ) \ <> Track

1

—

Top
Track

H_ \\_”\ Insert same size as stud

to match track gauge
SECTION
TOP TRACK SPLICE

DETAIL



2 Screws @
each Stud
(Track to
Track)

=

NOTE:

Joint Must be Braced Diagonally
or Horizonally to the Nearest
Roof or Floor Framing Member.

TRACK TO
TRACK DETAIL



_— T 2--#10 Screws Each Side
Track
AN Bend Flange as
Roof Sheathing W/#10 Screws L = Req'd
at 6" 0.C. to BLK'G (TYP.
——UNO)

350T20 X Length of Shear

Wall--Notched Over Truss

Top Chord W/ 2--#10 Ea.

Truss

\ - / Truss Heel or
Web Member
L
Top
— Track

A - /
; S T Diag20Ga: T 1 ...t
o Track ; :
I SNEN ~— . (TYP At Alternate S
4t X \ Bays) 4]+

Bend Web & Screw
n " To Top Track Shear Walll
/ W/2-#10 Strap
o \
-

\

\

/

_

TRUSS BLOCKING
DETAIL



NOTE:

- Vertical Heel Member may be
screwed directly to stud without
the use of a connector

SEE TRUSS PROFILE FOR

Cont. 20 ga- Plate attach to Roof
SECT. AT top chord W/2 #10 screws ea. Sheathing
STUD (TYP) Top Chord

Member

[

Heel
Member
Cont; 20 ga. / PCE 25TC20 W/ 4-#12 to Stud
Fascia & 3 # 12 to each Side Vert.
Track Strut
) Pl
Cont.To
Track P / ‘ ‘ Bottom Chord
\ — + Member
o4
| -
- I
n | »
N I
/ |
Exterior Studs W Q 'L'
TYP
(TYP) ‘ ‘ \ Cont. 20 ga. bent PI

Angle W/2-#10 each
Stud/Truss Location

TRUSS CONNECTION TO FACE OF
STUD



Roof
Cont. 2 x 2 x 20 Ga. Bent PL- Sheathing
Attach to Top Chord W/2 #
10 Screws (TYP)

Top Chord
Member

-

#10, @
6" E.N.
Bottom Chord
~— Member
See Truss
Profile for
Heel
Dimension
Vertical Strut

Member
Cont. 20 ga.
Fascia Truss

Track Connection

Cont.
Fascia 7

Header- SEE
Beam Schedule
for size —

£

TRUSS CONNECTION TO HEADER---RAKED
FASCIA




Roof
Cont. 2 x 2 x 20 Ga. Bent PL- Sheathing

Attach to Top Chord W/2 #
10 Screws (TYP)

Top Chord
Member

#10, @
6" E.N.

Bottom Chord
Member

See Truss
Profile for
Heel
Dimension

N
Vertical Strut
Cont.

‘ Member

Fascia [

‘ Truss

Connection
Header- SEE
Beam Schedule
for size -

£+

TRUSS CONNECTION TO HEADER---ZERO
OVERHANG




— Rafter

| Align joist &
Jmsti Rafter over wall
N % stud below
Wall
Track
\
Clip Angle \*N\
(Screw as (R
req'd by
design) -
Wall \\
Stud ]
TRUSS EAVE

DETAIL



Screws By
Design

Angle
asReq'd for
Eave BD. \

Continuous
Channel
Bridging as
req'd
- -

See _ .

Rafter Align vertical

Eave Dl Web over Wall

stud below
NOTE:

Where axial load bearing
members do not align vertically.
See top track load distribution

. TRUSS END @
EXTERIOR
WALL



Top Chord
Member

Web

Member
5/8" Min.

5 = (TYP)
NOTE:

| For Truss member
Cross
section

Provide gusset PL to match L
heavier member connected

where SPE (Screws per End) is
followed by the letter G (TYP)

DETAIL AT TOP
CHORD

NOTE: Gusset plate may not be required if calculated
number of screws can be directly applied to all joined webs

through chord member.
Web

/ Member
Web ‘
Member \ J

‘ - /
7

P
O
s
Bottom 6’ Screws May be placed
Chord s @ / \ in two rows as shown

Member (TYP)
#10
Screws
DETAIL AT BOTTOM

CHORD

TRUSS WEB CONNECTION
DETAIL



[he

Fasteners \ |

12- #10
Screws

Typical CS Installation
Floor to Floor Tie (CS16)

(Light Gage Steel
Construction)



FASTENERS Min. Footing

S/PAHD42
S/PAHDA42
S/MPAHD
S/MPAHD
S/HPAHD22
S/HPAHD22
HPAHD22-2P
HPAHD22-2P

6"
8"
6"
8"
6"
8"
6"
8"

SCREWS

7-#10
7--#10
9--#10
12--#10
10--#10
12--#10
10--#10
14--#10

Typical HPAHD22 Double Pour Edge
Installation--(Light gage Steel

Construction)

v

° o O [} @] (@} @] o (o] (& o O

° O Q O (@] (@) Q O Q @] o O

AN

4"
Slab

8" from
Corner



Typical L50 Installation
Reinforcing & Skewable

—

Angles (Light Gage Steel

Construction)

Fasteners

6-#10
Screws




Fasteners

12-#10
Screws
\

s =%

Typical LTS Installation Truss to Steel
Studs
(Light Gage Steel Construction)



Fasteners QJN?

4-#10 B
Screws

5" Min length channel
w/2-#8 screws

Alternate MAS Installation
(Light Gage Steel
Construction)



Lo
.

.\
Fasteners
A21-—----- 4-#10 Screws
S/A23---4-#10 Screws

Typical S/A 23
Installation

(Light Gage Steel
Construction)



Fasteners //
To Rafters 3-#10 Screws - //\
ToPlates  3#10 " \ e
To Studs 1-#10 "
s

Typical S/H1 Installation
(Light Gage Steel
Construction)



Fasteners

S/H2.5 E—
To Rafters------- 4-#10 Screws
To Studs--------- 4-#10 Screws

@
@

iV, )

©
©

,
N

|

Typical S/H2.5 Installation
(Light Gage Steel Construction)



Fasteners

To Rafters--—---- 2-#10 Screws
To Plates------- 2-#10 Screws
\ \I

— N7

Typical
S/H3 Installation

(Light Gage Steel Construction)



——
@
O Fasteners
@
2 Anchor Bolts----7/8"
7 Screws 24-#10
O
o A
@
Py

(i

¢

\

O

Typical S/HD8 Installation
(Light Gage Steel Construction)



SIPAHDA42
SIPAHDA42
.0 SIMPAHD
ol SIMPAHD
£ S/HPAHD22
° S/HPAHD22

One # 4 Rebar
in shear cone
(min rebar length is le+6")

1/2" from cornerj

Typical S/THPAHD Single Pour
Corner Installation

(Light Gage Steel Construction)

Fasteners

Min Footing Width

6"
8"
6"
g"
6"
8"

Screws

4410
5-#10
4-#10
6-#10
5-#10
7-#10



Fasteners

Min Footing Width

S/PAHD42
= S/PAHD42
S/MPAHD
=~ - S/MPAHD

S/HPAHD22

) S/HPAHD22

6"
8"
6"
g"
6"
g"

Y/
s/

%/

/

Typical S/HPAHD Double Pour Corner
Installation---(Light Gage Steel Construction)

Screws
4-#10
5-#10
4-#10
6-#10
5-#10

7=#10

4" Slab Thickness

1/2" distance from

3 corner



Fasteners

Min Footing Width  Screws

S/IPAHD42 6" 7#10

S/IPAHD42 8" 9-#10 — 0
SIMPAHD 6" 9-#10 Y
S/MPAHD 8" 12#10 NE
SHPAHD22 6" 10-#10 RN
SHPAHD22 8" 14-#10 :

Typical STHPAHD
Single Pour Edge Installation

(Light Gage Steel Construction)



Fasteners

Bolts Screws —
S/LTT20 1/2" 6-#10
S/HTT14 5/8" 16-#10

A Typical S/LTT, S/HTT
i Lo e Tension Ties

O

(Light Gage Steet Construction )



1 3/4" Min. Edge

Distance

Install SSTB before the concrete pour using a MKP
(hold down). Install the SSTB diagonally at
approximately 45 deg. from the wall. Install one #4
rebar 3" to 5" from the top of the foundation.

Min. concrete compression strength is 2500 psi.
~ 6" Min. 8" for 7/8" dia.

SSTB is suitable for monolithic and two pour SSTB

installation.

TYPICAL SSTB INSTALLATION FOR
CONCRETE FOUNDATION



NOTE:

Before concrete pour, Install diagonally at
approx. 45 deg. in the cell.

Install one #4 horizontal rebar approx. 12"
from the top and #4 vertocal rebar min. 48"

O.C.

Grout all cells with min. 2000 PSI concrete.

TYPICAL SSTB INSTALLATION FOR GROUTED U
CONCRETE BLOCK



—Stud

Stud must fit tight
against track web
before being screwed

Cont. Sill
Track

#8 or #10 Self Drilling
Screw each side

TYPICAL STUD TO SILL TRACK
CONNECTION



Typical TB Installation
(Light Gage Steet Construction)



Provide Cont. Horiz.strap @
load bearing walls over 12'-0"
high only or as shown on panel
elevations.

SEE PLAN

——TRACK SPLICE

A
/ S PLATE LINE

Provide double studs under
irder truss (Where occurs)

C—m

N

Provide End
blocking as req.

EQUAL

=0

m

T

T

T
[aE——
\ o)

\

|

PANEL HEIGHT

Cable
(Romex)

N
/4

C1—» ‘

7/ AL I

hole where non-metalic electrical cable metal stud W/2 #10
(Romex) is used (TYP) Typical stud to sill screws.
connection, use #8 screws
self taping ea.side

! /
Sy xTyp. electrical outlet or
Provide plastic grommet in pre-punched / switch box attach to

NOTES:

*  Member sizes shown in this detail
SCHEDULE are typical except as otherwise

MARK DESCRIPTION QTY size ()

shown on the plans or specific
panel elevations.

moQo W

All studs shall be spaced at 24"

Top Track 31/2" x 20ga . ;
Bottom Track 3 1/2" x 20ga 0.c. except as shown otherwise
Stud 31/2" x 209a.. and as noted below.

Double Stud (2) 3 1/2" x 20ga. Load bearing studs shall be

Strap 2"x 16ga. spaced so as to fall directly under
Blocking 31/2" x 20ga roof trusses/rafters or under floor

joists.

TYPICAL WALL FRAMING ELEVATION




Where members above do not
—align; provide added vertical
b Header Beam
members. ocated at joist or
t !
Corner, use #8 or Bridging rafter bearing

#10 self taping
SCrews \

N LD

Filler to transfer // I
load thru floor ———— \ /
system | il
Window Opening,
i \ \
Jamb stud \,ﬁuse expansion
Track ; "“:Ut‘?s to olts or anchor
rac ‘oundation f bolts as Req'd
plicing (use Door Opening q
Laterial stability bracing both stud #10 screws)

flanges as req'd.

NOTES:

1. Joists align over wall studs (TYP)

2. Jamb members must be carried down all
walls to foundation. (TYP)

3. Stud web penetrations, SEE pg 678.

4. Headers for openings may be located
directly above openinf or at joist bearing.
When located at window head, cripple

studs must be tightly seated for full  bearing.

TYPICAL WALL FRAMING ELEVATION---2 STORY



+| T+
+! I+
+‘ by
N

\% /Head

%m+m+ ) eam/neader

Per Arch. Plan
20 gage Arched
——Track-- Notch as
req'd

TYPICAL ARCH OPENING DETAIL



Use STD Track nearest to 2

X member width (U.N.O.) Use STD Track nearest to 3

Use STD. Track nearest to 4

A

B

TYPICAL BOXED HEADER AND BEAM

DETAILS

use schedule track at X member width (U.N.O.) X member width (U.N.O.)
header
#0@ 12"

#0@ 12" O.C. each side

0.C. each side (Typ. T&B)

(Typ. T&B)

|_-I—| 2) #10 I__I-|
1 (@)12“ r 1
O.C. ™
See Plan See \:
for Plan
~-————member —* for
size member )
size r
Turn bottom "l__l J ""J I_ J I__l'I
= track down at
header
#10 Screws @ 20 gage
20 gage DEEP Leg 12" O.C. each DEEP Leg
Track —Typ. side (Typ. Track-Typ.
(U.N.O) T&B) U.N.O. (T&B)
BEAM/HEADER BEAM BEAM

c



NOTE:
- Vertical Heel Member may be
screwed directly to stud without
the use of a connector

SEE TRUSS PROFILE FOR

Roof
S!E CT. AT Sheathing
STUD Top Chord
Member
EN__ /
\ -
R
I+
- N
| / A PCE 25TC20 W/ 4-#12 to Stud
| \ ‘ & 3 # 12 to each Side Vert.
Top Track el : + |- Strut
W/Skewed Flanges | A T4
(TYP) ‘ 7+
| ‘ |
| |
L ‘ Bottom Chord
\
@ ‘ | ; ‘ Q Member
| |
\
ud Vertical Stud ] |
o Member 4‘T ‘
I
- ‘/ ]! T
AT | | |Jr !
Exterior Studs \ U 1
(TYP) | |
| Cont. 20 ga. bent Pl
\

Angle W/2--#10 each
Stud/Truss Location

TRUSS CONNECTION TO FACE OF
STUD



TopTrack

Beam
~_See Plan
\ Ai iA / for size
I T
_ : N
| , Full Height Stud
| " with 4- #10 (Typ) each
Stud ' ' side)

e Fill with Stud
- I wi uds per

Track/ | plan

Notch Flange of
Track then Bend UP \

DA
)+
| T
2 #10 ea. Beam
Member (Typ)
PLAN SEC.
A-A
TYPICAL DROPPED BEAM

TO WALL CONNECTION



Provide Plastic Grommet
Non-Metalic ——in Prepunched hole in

Electrical Cable stud web (Typ)
(Romex) \ |
|
| |
| Zip Tie to
| / stud (Typ)
|
1
| #6
Stud. See | Screws .
|

Plans for L,
req'd size. \ .‘

Flange of | :
Electrical Box w/
stud | outboard
| attachment flanges
|
|
TYPICAL
ELECTRICAL
ATTACHMENT

DETAIL



King

Post_
Step / Detail
Down Top — Indicates Top Chord
Cord / at step-down fruss
Detail | (where occurs)
|
Indicates
Bottom Chord
atScissor 00000 < 1 - — =
Truss (Where
Oceurs)
@
Overhand 4
Dtl-Flat — B
/ \ c —F7 ¢ - _ ¢ > \
DJ‘i — — =
/
Truss ™~ :\D
Web
Connection
SCHEDULE
NOTE:: MARK DESCRIPTION QTY SIZE
Where shear wall occurs A Bottorn Chord 25TC20
Below and heel dimension ottom Lhor -
Exceeds 10"--Frame truss g Top Chord - 125T0228 I Y PICAL GUSS TRU SS
To inside face of stud & Web - 5TW -
D Heel —  15TW20 ELEVATION

Connect per detail Ref.

R
8
[y
35
]



King Post

w/gusset
3 <
Truss
Web
Connection
_ Typ - /
g § Truss o
® 7 Gusset ! \
\ B
Zero
e O/H Dt
gg '/
T | N - ]
L ¢ e q e § ¢ ¢ 2 \ o
Truss (. Y -y King ™ :/\
Web \Post D )
Connectio Dt 5
) SCHEDULE c
NOTE:: MARK DESCRIPTION QTY SIZE 3

Where shear wall occurs
Below and heel dimension
Exceeds 10"--Frame truss
To inside face of stud &
Connect per detail Ref.

e T e TYPICAL GUSS TRUSS
Hool T lerwa ELEVATION

OO w>»



20 Ga.
Bent Plate
Ridge &
|
< SLOPE SLOPE_ »
20 Ga. Bent Plate
Truss\‘ Hip
-+ # < = = —
Edage of
/ AN ____ Plywood
Girder Truss May Occur
at location than that oA + Step Down Girder
shown y " Truss
FLKt4opP
CHORD
/S AN
—F = — = = = o ———— S SE & |
'y \ Do not notch N
; v a turned down lip of N .
Hip . N Hip
Truss Girder Truss Truss
Chord (TYP)
| SLOPE
/ !
/ \ \
TYPICAL HIP ROOF

PLAN




Holdown AB DIM DIM FASTENERS
SIZE "A"™: "D" 8--10
LTT19 3/4" 112" 1o 10--10
LTT20 1/2" 112" 12" 10--10
LTT20B 3/4" 11/2" 12" 24--10
MTT28B  3/4" 11/2" 14" 17--10
HPAHD22 10" Min 2-5/8" BLTS
HD2A 5/8" 11/2" 12" 2-3/4" BLTS
HD5A 3/4" 21/16" 14" 2-7/8" BLTS
HDGA 7/8" 21/16" 15" 3-7/8" BLTS
HDS8A 7/8" 21/16" 15" 4-7/8" BLTS
HD10A 7/8" 2116" 20" 4-1" BLTS
HD20A 1" 23/16" 30 4-1" BLTS
HD15 11/4" 21/8" 30" 5-1" BLTS
S/ILTT20 1/2" 112" 12" 6--#10
S/IMTT14  5/8" 13/8" A 13--#10
S/HTT14 5/8" 1 3/8" g.. 16--#10 Face of stud web--(Holdown must be
S/HDS 7/8" 11/2" 14" 24-#10 | bqlted t:rough studs when they are
S/HD10 7/8" 11/2" 15" 30-#10 oriented toe to toe)
I
[
' #10 Screws
| ;___,/ Per Schedule
Double Stud
Holdown (SeBeoltDtI:rg)
--See Plan Track
for size T
s
B in i
Dim. LA Dim. "D" See
"D“ 3133\\A4 ) Ad v SChedUIe
=S \ Embeded
’ L —Holdown
_ (Where occurs)
NOTE: FOOtmg*/ 7‘ ‘ ‘7‘ ‘ ‘7‘ ‘ ‘7‘ ‘ ‘7 Anchor Bolt -Where occurs

Bolt projection shall
be the same as thread
length. U.N.O.

TYPICAL HOLDOWN DETAIL

(See Schedule)

AND SCHEDULE



Web to top
Chord Ditl

Truss Eave /
Ditl

N s

! \ |

Web to Bottom/ \Web to Bottom

Chord Chord
TYPICAL KING POST TRUSS PROFILE




#6 Screws

@ 12"
Track 2" o.C. Track
\ <> Lintel /
Beam
o E e = = = = 16
LT T /- L gage
ﬂ; ) - 4 ~ | 1, Plate
) i+ — — = T +
Typical +H N » R i B ]
Connection of | A
studs to track —_ —IVL\Q -
| Q | = Iég?rlu
|
16 gage Plate | 7/8" Min. Between *
each side | Screws & End of Lintel |
| Web |
\ > Jamb
Stud
— = —=-——— #10 or #12 Screws

as req'd by design)

TYPICAL LINTEL BEAM

CONNECTION
(ALTERNATE)



#8 or #10

Track C>> 182c:"reow2@
7/8" Min. Btween
Screws & End of
— — ﬁJFEEE ﬂzzzz '/Linte|web
1
] oo T i
Typical ‘ 7T - 1 "]
Connection of — T B -~ -~ L
7 | intel
studs to track /ﬁ / _ MM 7, Beam /
Web @ (>> >
#10
Beam ﬂ/ B Screws /
Cope / (As req'd)
Flanges as B
Req'd | |

TYPICAL LINTEL BEAM
CONNECTION

I

— —
— —H

— —

H I:[ Lintel

‘ ‘ Beam
| | Jamb
. <l stud



0 Gage Ridge Plate W/2
--#10 Each Truss (TYP)

Plywood
Sheathing (TYP)

— = /
—
B /4
/ 20 Gage Valley Plate
/ (TYP)

Carrying

e
4

2-410 Screws Thru
Sheathing into Truss Top
Chord (TYP)

TYPICAL OVERFRAME
(CALIFORNIA FRAMING)
TRUSSES



Cont. 20 ga. Valley Plate
W/1-#10 each Leg to

each Truss & Framing
2" x 2" x 4" Long x 20ga. Member

Bent Plate W/2--#10 each
\ E.N.\

Leg--TYP. Each Framing
NN SN NANANENANAN

Member

350WCS20
Framing At
24" O.C.
(TYP)

Truss Top
Chord

TYPICAL OVERFRAME
DETAIL



Soffit Joist
(See Framing Plan)

““““ =
|
Soffit Vent
See Plan for
location : Stud (See Plan
Metal i - for Req'd size)
Rib Lath I
7/8" /
Exterior
Plaster

TYPICAL PLASTER SOFFIT
DETAIL



2" X 2" X
20 Gage
Angle

See
Plan

See
Plan

\

:

#8
ﬁ Screws

Track
Stud (See
plan for req'd

__—  size)

> ]

Bottom

Va Track

TYPICAL POST SHELF DETAIL



Rafter
Cross
Bridging

Collar
Tie /
Y

Sk Joist Ceiling
| \— -Bridging Joist
N Eaves

TYPICAL RAFTER FRAMED ROOF SECTION




Rafter
to
diagonal
braceing

TYPICAL RAFTER FRAMED
VAULTED/CATHEDRAL CEILING




Rafter and/or
Joist Bridging

/ | Ridge
8 | G | | | R | I Board
v

il Gable
\ End
A -
AT

Collar
Truss Cathedral Tie
Roo

Domer
Framing

TYPICAL ROOF FRAMING PLAN



Rafter DAl
to o ﬁ
diagonal PN

/
f e

MODIFY QUANTITY OF WEB
MEMBERS AS REQ'D BASED ON
DESIGN

TYPICAL SCISSORS TRUSS PROFILE



NOTES:

* Member sizes shown in this detail
are typical except as otherwise Panel
shown on the plans or specific Height
anel elevations.
©
All studs shall be spaced at 24" o 5
O.C. except as shown otherwise | J \ _
and as noted below. } I
C1 }ﬁJ
Load bearing studs shall be spaced =T QD
so as to fall directly under roof yp)
trusses/rafters or under floor joists. 1
A~
SCHEDULE
Mark Description SIZE *
A Top Track 350120DL
B Bottom 350120DL
c Track 350WCS20
C1 | Stud (2)350WCS20
Double Stud
D See Plan
E Lintel Beam
F Header 350120 / - Jii
G Sill See Deatil | | N
H Strap 2'x16 ga.
J Strap 350B20
K Blocking 350120
Lintel Track

Provide End
Blocking

Where dbl holdown is
required by design

Provide Simpson holdowns
where specified on plan as

“"" req'd by design

Provide cont. horiz.
strap at load bearing
walls over 8'-0" high

only or as shown on
panel elevations.

Provide double studs under
girder truss (where occurs)

Added track anchorage per
plan and detail as req'd by
__design
_—
-~

Shear

’ 101 ‘\ 3
c1
\ Panel

Bracing

TYPICAL SHEAR PANEL ELEVATION



First Floor Shear Panel

nd Floor Shear Panel

\PA Plate Line
" ‘ Provide doub! ﬂ/
" Ny studs under
N girder truss ©
\ u?j-

(Where|occurs)
Ry ’T/
C1 -~ C1-» gy

4
|
|
|
[la— I

=g ::::::’::ﬁ; s B ¢ e [| S | e | (| he T :F E
- C2 =]
G G | G Jll< C1 %
)/ Ry © —
Second Floor Shear o 3— 8
Wall Strap Tie Holdown Ry w <
or Gusset Plate \ Zx =2 ¢ R o
2 i N \\
% A
Yy p—
\ D X & 5 -
Where Diag. strap ! : : B / < FLR. Line
Is screwed directly \ ’ ’ W \ .
to Rim joist provide v v ! ' f : \‘ ' Plate Line
2" x 16 ga. strap at / S | B t . :
DBL studs o g N A i i —
wiscrews each end \ X " ©
Note Bel w
- —
J H / \'\ N Applies or[\ly :‘Il:’
L v i N where no shear =
Provide cont. . e ,fa#;ff%fgf e e ,t — allt 5
horiz. strap at g 9 below o

load Brg. walls

Provide
over 12'-0"high

end

o$\\
o 7

g:l:; :r: ea:s shown co - ) ‘/C2 &) J blocking S-
elevations. ) - /(\/ % L
LA (8 i
); L ; - Added track == \ Txpet;%' B—aﬁing mha N
Shear i T e cimson el oy
plan. NOTES:
SCHEDULE * Member sizes shown in this detail
are typical except as otherwise shown
MARK DESCRIPTION SIZE * on the plans or specific panel
elevations.
A Top Track 3 1/2" x 20 ga.
B Bottom Track | 3 1/2" x 20 ga. Al studs shall be spaced at 24" O.C.
C Stud 3 1/2" x 20 ga. except as shown otherwise and as
C1 Double Stud (2) 31/2" x 20 ga. noted herein.
C2 Double Stud (2) 31/2" x 20 ga.
D Rim Joist See PLan Load bearing studs shall be spaced so
E Header See Plan as to fall directly under trusses/rafters
F Sill 3 1/2" x 20 Ga. or under floor joists. See plan for
G Diag. Strap See Detail flooring, joists spacing.
H Horiz. Strap 2'x 16 ga.
J Blocking 3 1/2" x 20 ga.
K Header Track | 3 1/2" x 20 ga.

TYPICAL SHEAR PANEL ELEVATION--2 STORY



Roof
Sheathing

| [ Truss
EN. -
| |
| |
#12 Screws ! = -
At 12" O.C. - -
Staggared | -~ Cont. Track W/2
\ P #10 Screws at
— Each Stud

Finish

r;;;;
L
|
|
|
|
|
|
|
\
Uy _

|
Fascia ‘

TYPICAL SOFFIT FRAMING DETAIL



=

-
> / Cut & Bend 1 5/8" Track as

Box Beam ¢ shown to form stair tread and
AN
\

or Header \ | riser (Typ)
/ /
L
K
AN
v

AN
N\
2" X 2" X 16 Ga. oA
Angle W/4--#10 —
Screws each leg \h
#10 Screws ) Tracked stringer (BWCS16
(Typ)

W/8T20DL U.N.O.) at 24"
J\ ) / 0.C. (Typ)
\\\

TYPICAL STAIR
STRINGER CONNECTION

AV

|

|

N =

&
Yl e oV A oyl ey

N

Filler Studs as
Req'd

A




1/2" x 10" A.B. @ 6'-0" O.C.
(Typ. U.N.O.) 9" from ends.
~min. 2 per track section.

Studs
O Track--See Panel

/ Elevations
10" Min | ﬂ_l{/ Concrete
Embedment into I - Slab
Footing — 7 sl =~ or Footing
(Typ) bl -
NOTE: e,
Power driven
oo ANCHOR BOLT DETAIL
cannot be used in a
two pour system 0.177" x 1 1/2" Power Driven Fasteners @

4' O.C. (Typ. U.N.O.) 9" from ends miin. 2
per track section.
Studs-—~
O Track See Panel
/ Elevations

sV “ Monolithic Concrete
’ * ¢ &~ Slab & Footing (See Note)

3" Min to
Edge —

SHOT PIN DETAIL

TYPICAL TRACK ANCHORAGE DETAIL AT
EXTERIOR WALL ON SLAB



Place Screws
Symmetrically
about Center line
of Web Member
(TYP)

Truss
Chord
~— Member

Provide Scheduled No..
of Screws per End
(SPE) through Gusset
Pl into Web Member,
with same no. of
screws into Chord.
(TYP)

3/4" Min
Place Gusset
Between Web &
Chord Members on
Both Sides of Truss

L R (TYP)
|
Truss Web / e

Member
Gusset Pl Shall Be

ized to
Accomidatre
Scheduled No. of
Screws. (TYP)

3/4" Min

TYPICAL TRUSS GUSSET



Valley
Flashing

DETAIL

Y A NS \. V2

VALLEY
FLASHING

(1) Screw @
each Rafter or
Truss




* Locate Blocking at each end of wall,

@ 10'-0" O.C. between & adjacent to openings.

* FOR TRACK:
Where blocking material thickness allows,

notch and bend flanges 90 degs or anchor to

verticals wiclip angles.
* Lap splice straps min. 4"

soLp
BLOCKING

Screws as
required.
(each side)

WALL

AN

/ *

/

Screws
7 as required
each stud
Flat Straps,
Notched channel,
— X-bridging or
propriety bridging
(each side)
NOTE:

NUMBER OF ROWS OF
BRIDGING AS REQ"D
BY DESIGN

BRIDGING



Cold-rolled channel
—— horizontal bridging to be
spaced as req'd by design

Clip angle 1/4" less

than stud width . Attach /V
with 4 screws as shown

WALL BRIDGING (ALTERNATE)



2"x20ga

Cont.
Stud
Strap LU
v
\i \\
#8 or #10 |
Self drilling |
screw |
DETAIL
B
»ﬁ Stud
1 Horizonal
N Blocking

- | S

4--#8 or #10 - N

Self Drilling e

Screw T 20Gage X 2" Horizonal
TN Strap

#8 or # 10 Self
Drilling Screw

DETAIL

WALL HORIZONAL BLOCKING /BRIDGING DETAIL



Cope Flanges of one Top
Chord for Lap

Screws
By Design Screws

By Design

N
|
|
|
|
|
|
|
|
|

Continuous Channel Bridging as Req'd

WEB AT PEAK OF TRUSS DETAIL



Screws

By Design
// // 7
/ 7
/ 7
/

7
/)
7

Continuous Channel
Bridging as Req'd

%
/

4 /

4 /

4 %

/ /
< /
Ny

WEB TO BOTTOM CHORD DETAIL




Continuous Channel
Bridging as Req'd

Screws By Design

WEB TO BOTTOM CHORD DETAIL



Screws By
Design

Continuous Channel Bridging
as Req'd

WEB TO TOP CHORD DETAIL



Opening greater than 4'-0"
LOAD BEARING WALL
Top
Jamb @ Track
top of wall j
/|,
\ /‘
©
=)
| 7))
1 o]
*‘[ B - = < Stud
RS — Head Track ©
=
. .
OPNG @
N O
TYP S
e < | Track
\‘\ /\ N
f | I |/ I

o /

Opening \ Jamb at

Sill, see dtl bottom of wall

WINDOW OPENING GREATER THAN
4 FEET--NON-LOAD BEARING



Opening greater than 4'-0

Load Bearing Wall
Opening head--Load Top
bearing jamb & head \ Header l— Track
/ \'
|
) Track
\\ - - Stud
\ - Double
\\\;¥A/>\ - Jamb
H\ead Trapk/ Stub
-
\
- “. Opening
Pre TYP Sill
| S r Track. Bottom
\/ : Track
N 7
/ | A S l
\\ /\
Opening sill-see -7
detalil ¥ J?mb"at bottom
of wa

WINDOW OPENING GREATER THAN 4
FEET WIDE---LOAD BEARING



Opening less than 4'-0"
Load Bearing Wall

Jamb @
top of

Door —\‘ / TopTrack

|\
\ v
Double \ / Head
Jamb > ) N, Track
Stud Opening
# M
7 X
i | / \ Sill

\\_ ! / Track
Opening J .7
Sill, see \
detail Jamb at bottom

of wall

WINDOW OPENING LESS THAN
4 FEET WIDE---NON-BEARING




Opening less than 4'-0"
Load Bearing Wall

Jamb at
top of
TopTrack
wall | Header /
C \\ ‘ /
N \ /i
Double s / Head
Jamb - \\ y Track
Stud Opening
7 !
pa N
i | / \ Sill
/ s Track | Bottom
N | K / Track
A T
| i il \ = | |
Opening sill--single \ Jamb at bottom of

wall

WINDOW OPENING LESS THAN
4 FEET WIDE---NON-BEARING

track



b //////

2

Screws
ey

Wood joists % . \\ Shg?thingd()OSB
align withwall ~ < | orPlywoo
stud below
2 Rows of solid /> \
~ blocking . N\
between joists A i .
Stud
- Wall /
e

Joist

Hanger or /

clipangle — Multiple

Joist
\ Members
7 as Req'd
NOTES: ) o ¢ 0 S ¢
1. Balconies require special 7“/( 6‘40* 8/114/7, 2 ,\,(
detailing and consideration for l’s,? 54,?60 8 G'VG
protection against thermal G/VO //V@ hf ‘/O/ 7 ~
bridging. ’ AL ¢ Sy
2. Where axial members do not 8
align vertically, provide detail.
WOOD DECK ~

BALCONY



Cont. 20 gage Plate
attach to TOP
CHORD W72 --#10
Screws ea.

Roof
Sheathin

E.N. —

Top
Chord

~ - = / Member
~ = X

Vertical
See ‘ Strut
TRUSS + Member
. Wood
Profile for Rafter
HEEL Dim. Bottom
* ﬂ -<——— ChordMember
+ ‘H
See |
Drawing for ‘ ‘ TOP Track
FasciaJ A I | (TYP) NOTE:
Cond. - | | FOR TRUSS MEMBER
| | CROSS SECTION SEE GUSS
Exteri ]
3/1/4" x 1 1/2" LG. LAGS | | Stuzgor TRUSS MEMBER SECTION
from TRUSS HEEL into end | e (TYP)
of RAFTER Tail (Pre-drill FOR TRUSS \ \
\ \

Holes)

CONNECTION SEE
BOTTOM CHORD
TO TOP PLATE
CONNECTION

WOOD RAFTER TAIL CONNECTION TO GUS TRUSS



Screws
By Design

Cont.
20ga.
Strap

Wood Rafter
Tail-secure to CEE
Stud Web W/ 3/8" thru
Bolts (No. as Req'd)

Channel
Bridging
~
\ Align Vertical
- Web over

NOTE::
Where axial load ;Valll Stud
bearing members do elow
not align vertically,
provide detail

WOOD TAIL CONNECTION TO TRUSS



Sheathing
Cont. 20 ga. plate attach to
Top Chord W/2-#10 Screws . 7
(TYP)
E.N.
Bottom TTT——
Chord to
Top plate
connection
\
\ \
\ \
See Arch. \ \
Drawings for /L ] Top Track
Fasci (TYP)
ascia
condition.
Exterior
Studs (TYP)

Roof

ZERO OVERHANG--FLAT FASCIA

NOTE: FOR
TRUSS MEMBER
CROSS
SECTIONS

Truss--See
Roof Framing
Plan



Cont. 2

Top Chord W/2-#10 Screws .
(TYP)
Heel to be flush
Wiface of stud
Cont. 20 ga. EN. \

Deep Leg Track \

0 ga. plate attach to

Roof
Sheathing NOTE: FOR
TRUSS MEMBER
CROSS
SECTIONS
Top Chord

Member
Vertical Strut
-

See Truss Profile Member
for Heel — ™
Dimension For Truss
Connection
= Bottom Chord
Member
\ \ \
\ \ | |
See ﬁ_\rch. J L ‘ Top Track
Drawings for v (TYP)
Fascia v \ |
condition. | |
| |
| |
| i Exterior
| | Studs (TYP)

ZERO OVERHANG--RAKED FASCIA



	001. Attachment backing
	Model

	002. Balcony with step down
	Model

	003. Balloon framed gable roof end
	Model

	004. Balloon framed rake wall
	Model

	005. Balloon framed rake wall-a
	Model

	006. Base of wall-slab on grade
	Model

	007. Blocked truss heel
	Model

	008. Bottom chord to top plate connection
	Model

	009. Bottom chord to top plate connection-a
	Model

	010. Bottom chord to top plate connection-b
	Model

	011. Bottom track splice
	Model

	012. Cantilevered floor joist
	Model

	013. Cantilevered floor joist-a
	Model

	014. Cantilevered floor
	Model

	015. Cantilevered floor-a
	Model

	016. Cantilevered gable end at cathedral
	Model

	017. Cantilevered roof gable end
	Model

	018. Collar tie at rafter detail
	Model

	019. Common truss connection to girder truss
	Model

	020. Composite truss
	Model

	021. Continuous floor joist over steel
	Model

	022. Continuous floor joist over stud wall
	Model

	023. Cross bridging
	Model

	024. Diagonal strap attachment
	Model

	025. Domer ridge at main roof
	Model

	026. Door jamb base at framing
	Model

	027. Door jamb base at slab on grade
	Model

	028. Door opening less than4 Ft wide
	Model

	029. Door opening-greater than 4ft
	Model

	030. Door opening-greater than 4ft-a
	Model

	031. Door opening-less than 4ft
	Model

	032. Dormer rafter at roof rafter
	Model

	033. Drag strut blocking into floor
	Model

	034. Drag truss to shear wall top track
	Model

	035. Exterior corner framing w-holdown
	Model

	036. Exterior pop-out
	Model

	037. Exterior wall w-floor joists
	Model

	038. Floor cantilever
	Model

	039. Floor framing at exterior wall
	Model

	040. Floor joist at FND wall pocket
	Model

	041. Floor joist connection
	Model

	042. Floor joist flush w-top of FND
	Model

	043. Floor joist flush w-top of FND-a
	Model

	044. Floor joist framed flush to steel
	Model

	045. Floor joist framed flush to steel-a
	Model

	046. Floor joist parallel to exterior wall
	Model

	047. Floor joist parallel to exterior wall-a
	Model

	048. Floor joist splice over interior wall
	Model

	049. Floor joist splice over steel
	Model

	050. Floor joist support at wall
	Model

	051. Floor joist to exterior wall-load bearing
	Model

	052. Floor joist to flush framed beam
	Model

	053. Floor joist to track bearing on FND
	Model

	054. Floor joists at sunken floor
	Model

	055. Floor joists bearing on foundation
	Model

	056. Floor joists parallel to exterior wall
	Model

	057. Floor joists parallel to exterior wall-A
	Model

	058. Floor joists parallel to FND
	Model

	059. Floor joists parallel to wall
	Model

	060. Gable roof end
	Model

	061. Gable roof end-a
	Model

	062. Gable roof end-b
	Model

	063. Guss truss member
	Model

	064. Guss truss to top track
	Model

	065. Header to jamb stud details
	Model

	066. Heel cut floor joist
	Model

	067. Holdown detail at stem wall
	Model

	068. Interior intersection framing
	Model

	069. Inverted chevron type strap
	Model

	070. Jack truss connection to girder truss
	Model

	071. Jamb at bottom of wall
	Model

	072. Jamb at floor joists
	Model

	073. Jamb at top of wall
	Model

	074. Joist and rafter bridging
	Model

	075. Joist connection at stem wall
	Model

	076. Joist header to build-up joists
	Model

	077. Joist header to floor joists
	Model

	078. Joists supported at bearing studs
	Model

	079. Joist-stud-rafter web penetrations
	Model

	080. King post detail
	Model

	081. King post w-gusset
	Model

	082. Mechanical unit support
	Model

	083. Non-load bearing sound partition
	Model

	084. Opening head detail
	Model

	085. Opening head detail-with header
	Model

	086. Opening in floor joists
	Model

	087. Opening sill detail-single track
	Model

	088. Overhang-flat bottom chord
	Model

	089. Overhang-scissor truss
	Model

	090. Parallel floor joist to stem wall
	Model

	091. Parallel floor joists at FND
	Model

	092. Party wall at load bearing wall
	Model

	093. Rafter eave
	Model

	094. Rafter eave-a
	Model

	095. Rafter eave-b
	Model

	096. Rafter eave-c
	Model

	097. Rafter eave-d
	Model

	098. Rafter to diagonal brace
	Model

	099. Rafter w-reduced size overhang
	Model

	100. Ridge board
	Model

	101. Ridge detail
	Model

	102. Roof eave and soffit
	Model

	103. Roof eave at cathedral ceiling
	Model

	104. Roof eave
	Model

	105. Roof gable end at cathedral
	Model

	106. Roof gable end
	Model

	107. Roof scissors truss bearing
	Model

	108. Roof truss bearing
	Model

	109. Roof truss connection at party wall
	Model

	110. Roof truss eave
	Model

	111. Scissors truss bottom chord
	Model

	112. Scissors truss end at exterior wall
	Model

	113. Scissors truss w-clipped ceiling
	Model

	114. Second floor shear holdown
	Model

	115. Second floor shear wall holdown
	Model

	116. Second floor shear wall strap tie
	Model

	117. Second floor shear wall strap tie-a
	Model

	118. Section at rake wall truss w-wood outrigge1
	Model

	119. Section at rake wall truss
	Model

	120. Shear panel bracing
	Model

	121. Shear wall gusset plate
	Model

	122. Shear wall holdown at 2nd floor
	Model

	123. Shear wall holdown at base
	Model

	124. Shear wall track reinforcement and anchora1
	Model

	125. Solid blocking
	Model

	126. Stacked second floor shear wall
	Model

	127. Stem wall
	Model

	128. Step down top chord
	Model

	129. Top chord bearing floor truss
	Model

	130. Top chord bearing floor truss-a
	Model

	131. Top of non-load bearing wall
	Model

	132. Top track load distribution
	Model

	133. Top track splice
	Model

	134. Track to track
	Model

	135. Truss blocking
	Model

	136. Truss connection to face of stud
	Model

	137. Truss connection to header-raked fascia
	Model

	138. Truss connection to header-zero overhang
	Model

	139. Truss eave
	Model

	140. Truss end at exterior wall
	Model

	141. Truss web connection
	Model

	142. Typ CS16
	Model

	143. Typ HPAHD22
	Model

	144. Typ L50
	Model

	145. Typ LTS
	Model

	146. Typ MAS
	Model

	147. Typ SA23
	Model

	148. Typ SH1
	Model

	149. Typ SH2
	Model

	150. Typ SH3
	Model

	151. Typ SHD8
	Model

	152. Typ SHPAHD #2
	Model

	153. Typ SHPAHD DP
	Model

	154. Typ SHPAHD
	Model

	155. Typ SLTT
	Model

	156. Typ SSTB #2
	Model

	157. Typ SSTB
	Model

	158. Typ stud to sill track connection
	Model

	159. Typ TB
	Model

	160. Typ wall framing elevation
	Model

	161. Typ wall framing elevation-2 story
	Model

	162. Typical arch opening
	Model

	163. Typical boxed header and beam
	Model

	164. Typical connection to face of stud
	Model

	165. Typical dropped beam to wall
	Model

	166. Typical electrical attachment
	Model

	167. Typical guss truss elevation
	Model

	168. Typical Guss Truss Elevation-a
	Model

	169. Typical hip roof plan
	Model

	170. Typical holdown detail and schedule
	Model

	171. Typical king post truss
	Model

	172. Typical lintel beam connection
	Model

	173. Typical lintel beam
	Model

	174. Typical overframe trusses
	Model

	175. Typical overframe
	Model

	176. Typical plaster soffit
	Model

	177. Typical pot shelf
	Model

	178. Typical rafter framed roof
	Model

	179. Typical rafter framed vaulted ceiling
	Model

	180. Typical roof framing plan
	Model

	181. Typical scissors truss
	Model

	182. Typical shear panel
	Model

	183. Typical shear panel-2 story
	Model

	184. Typical soffit framing
	Model

	185. Typical stair stringer
	Model

	186, Typical track anchorage
	Model

	187. Typical truss gusset
	Model

	188. Valley flashing
	Model

	189. Wall bridging
	Model

	190. Wall bridging-a
	Model

	191. Wall horizonal blocking-bridging
	Model

	192. Web at peak of truss
	Model

	193. Web to bottom chord
	Model

	194. Web to bottom chord-a
	Model

	195. Web to top chord
	Model

	196. Window opening-4ft wide
	Model

	197. Window opening-greater than 4ft
	Model

	198. Window opening-less than 4ft
	Model

	199. Window opening-less than 4ft-a
	Model

	200. Wood deck balcony
	Model

	201. Wood rafter tail connection to gus truss
	Model

	202. Wood tail connection to truss
	Model

	203. Zero overhang-flat fascia
	Model

	204. Zero overhang-raked fascia
	Model




